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For organizing an effective teaching-learning system which of the following combinations of
statements would reflect the most appropriate concern ? Select from the code to indicate
your answer.

a) Determining what will be the intended learning outcome.

b) Deciding as to what strategy and tactics will be used.

(c) Formally approving the academic qualifications of teachers.
(d) Determining the evaluation tool to be used.

e) Deciding the size of the classroom.

(f)  Assessing the prior academic experience of the learner.
Code :
Options:

91394316801, (), (c), (d) and (e)

91394316802, (a), (b), (d) and (f)

(a), (b), (c) and (d)

91234516803,

91394316804, (©), (d), (e) and (f)
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(a), (b), (c) 3R (d)

91334516803,

(0), (d), (e) SR (f)
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In order to promote direct learning which of the following methods would be best suited ?

Options:
s139431650s. 1 eam teaching method

2 B
91394316806, Project method

= - .r‘ - -:I l-.
01594316507 Lecture with examples

91394316305, LIScussion session
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From the following list of learner characteristics identify those which will be helpful in ensuring
effectiveness of teaching. Select your answer from the code.

a) Extent to which learner obeys the school rules

=3

) Learner’s level of motivation
) Feelings of learners towards the social system

d) Learner’s interest in sports and games

T i amal iame
@]

e) Prior experience of the learner

(f)  Interpersonal relations of learners
Code :
Options:

(a), (b) and (c)

913345168049,

(), (d) and (e)

91234516810,

(@), (c) and (e)

91234516811,

(b), (e) and (f)

2915334216812,
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91394316809, (a), (b) R ()
91394316810, (€), (d) 3R (e)

(a), () 3R ()

H91334516811.



H1334516812. (b)’ (E) a:ﬁ-{ (f)
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Which devices from the list given below will form part of formative evaluation ? Give your
answer by selecting from the code.

(a) Conducting a quiz session

b)  Giving multiple-choice type questions in post-instructional sessions
c) Giving a mastery test

d) Providing corrective feedback during discussions

e) Encouraging opportunity for metacognitive thinking

(f) Grading students” performance on a five-point scale

Code :
Options:
91394316813, (a), (d) and (e)
91394316814, (), (b) and (c)
s1394318315. (D), (€) and (d)
91394316816, (d), (e) and (f)

Question Number : 4 Question Id : 9139434280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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(a), (b) 3R (c)

912334516814,

c) AR (d)

91334516815, (b)’ (

(d), (e) 3R (f)

91234516816,
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Below are given a number of key behaviours as well as helpful behaviours of effectiveness of
teaching based on research evidence. Identify those which are key behaviours and indicate
your answer by selecting from the code.

Structuring through comments by the teacher in respect of what is to come.
b) Questioning through content and process level questions.
¢) Lesson clarity implying the extent to which presentations are not involved.

(d) Probing which implies statements to encourage students to elaborate.
(e) Engagement rate devoted to learning when students are actually on task.

f) Rate at which students understand and correctly comprehend assignments and
exercises.
Code :
Options:

91394316817, (a), (d) and (e)

(b), (c) and (d)

913345168158,

91394316319, (), (e) and (f)

215942168820, (El), (d) and (f)
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Question Number : 6 Question Id : 9139434282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The paradigm of research which focuses on the development of professional expertise of the
researcher-practitioner is called :

Options:

2 . -
a1394316801 Lure research

51394316822, Applied research

. .,’ l_| .
91394316823, Action research

150431680 QUalitative research
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Which of the following statements best reflect the meaning and characteristics of research ?
Select from the code to give your answer.

a) Research means challenging the status quo.

b) Research is an endeavour to collect facts and information.

]

) Research is a synthesis of deductive and inductive processes.
d) Research means proving one’s assertions and beliefs.

e) Research is a careful review of reported studies.

— — p— — — —

f)  Research is a critical and passionate search for knowledge.
Code :
Options:

(a), (b) and (c)

91334516825,

(d) and (e)

91394316826, (b)’

(a), (e) and (f)

215942168827,

(a), (c) and (f)

91334516825,
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91334516826,
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Question Number : 8 Question Id : 9139434284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two sets given below, Set - I specifies the methods of research while Set - II describes
the critical feature associated with a method of research. Match the two and select from the
code to indicate your answer.

Set -1 Set - 11
(Research methods) (Critical features associated)
(a) Experimental method (i)  Generalizing to the population from a large sample
(b)  Ex post facto method (i) Establishing the patterns of events which have
happened, through primary and secondary sources
(c)  Historical method (iif) Studying shared behaviour patterns
(d) Ethnographic method (iv) Establishing cause and effect through control

=

Probing into the causal factors from the observed
effects

Code :
(@) (b) (c) (d)

Options:

91234516829, (IV) (V) (I_I'.) (I_LI'.)



91394316830, 0 @) (i) (i)

o139431653r. W) (1) (i) (V)

91334516832, (I_I'.) (l) (I'.V) (LLI'.)
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Identify those stages/steps of research in which ethical considerations become relevant.
Choose from the code to give your answer.

a) Identifying and defining research question.

b) Postulating relationships among variables to advance a solution.

(

(

(c) Collecting data through use of research tools.

(d) Defining the population and sampling procedure.
(

e) Data analysis and procedure employed.

(f)  Reporting procedure of findings/results.

Options:

(a), (b) and ()

B91334516833.

91334516824, (C)" (E) and (f)

(b), (c) and (d)

B91234516835.

(b), (c) and (f)

91334516836,
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(b), (c) SR (f)
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In the two sets given below, Set - I provides the format of presentation and Set - II gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

Set -1 Set - 11
Format of presentation Distinctive features
P

Thesis/dissertation i)  Based on free-wheeling of ideas

L

Research paper ii) Target oriented group based reflection

.
2

c¢)  Workshop Reflective deliberations based on specific themes
d) Seminar iv) Presentation on a summary of research done

v) Systematic prescribed format
Code :

(@) (b) (o) (d)
Options:
41394316837 (i) (i) (i) (v)
91394316838, (i) (i) (i) (v)

91394316839, (i) (1) (1) (v)

91234516840, (V) (IV) (I_I'.) (I_LI'.)

Question Number : 10 Question Id : 9139434286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Read the following passage carefully and answer the questions from 11 to 15.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street. No matter how powerful you are, no matter what your experience,
skills, and accomplishments, you will not be respected by others if you consistently treat
them disrespectfully. Friendliness - that is, treating others politely and showing interest in
them - is a way of showing your respect for other people, and in return they respect you. If
as a manager you are respected, your preventive maintenance strategy will be accepted as a
sincere attempt to resolve problems rather than a mean-spirited attempt to cause problems.

As important as friendliness is, | want to make sure you are not mislead into believing
that friendliness will replace or correct poor management. [ have seen effective managers
who didn’t use this friendliness element but could have been more effective if they did use it.
I have seen very friendly managers who were ineffective because they were not doing effective
management things. In other words, managers who intervene effectively in a friendly way
are always more effective than managers who intervene effectively in a non-friendly way.
Maintaining a friendly relationship is another part of maintaining work performance. It also
helps you avoid having people try to hurt you because they don’t like you. It might save your
life.

Sub questions

Question Number : 11 Question Id : 9139434288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is reported in respect of successful leadership ?
Options:

spec 50 ience o ship.
a1zoaz1eaqy  RESPect depends on experience of the leadershiy

01394316845 Respect depends on the skills of the leadership.

Respect depends on the accomplishments of the leader.
91394316843,

L‘ 5 @ ‘I I..| " " L‘ 5 L]
o1z0a316m4q RESPECE COmes out of respect

Question Number : 12 Question Id : 9139434289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The passage highlights which of the following feature of a successful leadership ?
Options:

Independence of the leader
91394316845,

Dependence of the leader
91394316846,

1 ' -1 r -
91394316847 Reciprocity of the leader



Least concern for relationship by the leader
91394316348, 4
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The preventive maintenance strategy used by a respected manager will mean to the
subordinates :

Options:

1304318340 L1 attempt to cause problems

Al ¢ ot to res b g
91394316550, An attempt tc resolve prc blems

ot to beco -spiri
a1z0q316msy LN attempt to become mean-spirited

An attempt to become sincere
91394316852,
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According to the passage friendliness in management terms implies :

Options:
Rep[a ::ing poor management
91394316853,

Correcting ineffective management
91394316854,

Making management ineffective
91394316855,

Making management effective
91394316856
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The central idea of the passage is :

Options:

Friendliness is necessary for management.
91394316857, J ?
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In communicating in a classroom situation which one of the following approaches will be
considered most appropriate ?

Options:
01394316861 Assertive and conformist
Technical and domineering
91394316862,
b 1 - - k=
] L "
01504316865, Personal and emulative

Empathetic and pragmatic
91394316864,



Question Number : 16 Question Id : 9139434293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

7 T ST

91334516561

_aﬂa“r@iaﬂwﬂ

91334516862

=il T SHEREH

91334516863,

- TEIY(TH T AR

91334516864

Question Number : 17 Question Id : 9139434294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following constitute the paralanguage in communication ? Select from the
code to indicate your answer.

(a) Pitch of the voice (b) Internal noise
(c)  External noise (d) Use of pauses
(e) Rate and volume of speech
Code :
Options:

(a), (b) and (c)

2915394216865,

(b), (c) and (d)

91394316366,
91394316367, (@), () and (e)

(a), (d) and (e)

91234516865,

Question Number : 17 Question Id : 9139434294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

912334516865,

91334516866,
91334516867,

B91234516868.

Question Number : 18 Question Id : 9139434295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following would influence the effectiveness of communication in classroom
instruction in a critical way ?

Options:

T e : ﬁ.
—— Subject knowledge of the teacher

Academic intelligence and personality characteristics of the teacher
91394316870, J

Teaching style preferred by the teacher while transacting
91394316371, - 2

o1zeaziesre 1 €aching aids used by the teacher while making presentations

Question Number : 18 Question Id : 9139434295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHEIFTd ST o SHarid FEY 1 guifea 1 Fefafad § 9 6 5eaqul §9 9 guifad &em ?
Options:

91394316369, ieten <1 faua g I



fo1eter 1 AFRHF FEHT IR Al Ga faan

91334516870,

foreqor =l =1 fopannt=afa & T0a et g/ S <1 8 el

91234516871,

GEATeRT0 o HHY Toe7eh g1 Uge T9reror Uk

9133451687 %.

Question Number : 19 Question Id : 9139434296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher decides to form six groups of students and assigns a sub-theme to each group for
discussion and reporting. Which kind of communication model will best describe his/her
strategy in this regard ?

Options:

' )
1594316575, Linear model

91394316874, Horizontal model

Interactional model
91394316375,

T e l. . " 3 "
91394316576, [ransactional model

Question Number : 19 Question Id : 9139434296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U ek BE1 % ©: Y2 % Ted F1 fuig s € SR uftEai e ufaeed & fau e 9y %
39-fawg Oiqar €1 9 9 H {59 TR 1 GOm0 Jiqa™ ST WHIT 1 3 &7 9 F97H Fd ¢ 7

Options:

_“{F@muﬁnﬁ

91394316873
91394316874, arferst gfemm

91394316875, AR -TohaTeHe: FiqHT
91394316876, ERIESIGEICR I GLEIE

Question Number : 20 Question Id : 9139434297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is a powerful determinant for effective assertive communication
whether written or spoken ?

Options:

“You' messages
91394316877,

‘We' messages
91394316878,

“They” messages
91394316879, ’

i Tr
T—
91394316830, [" messages

Question Number : 20 Question Id : 9139434297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Qe SR FEmv, S fafad a1 At w9 § 2, F faw gt e frefated § 9 $E-a g?

Options:

‘ y o
91394316877, BV aal Slci

+
91334516875, B R i

¢ L Hé-?l‘ a-IFIT
91334516875, a-

“H' Gewr o

91334516880,

Question Number : 21 Question Id : 9139434298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
] i HIdIT & & &= T 9000 1 faufaa fawan w1 afe 20 3R =i e 91 g3 =3t
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Options:

30
91394316331

45

H1334516882.

ol
91394316883



T
91394316334,

Question Number : 21 Question Id : 9139434298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

< 9000 were divided among a certain number of persons. Had there been 20 more persons,
each would have got X 160 less. The original number of persons was :

Options:
L }
291394216881,
91394316882, 45
29
21294216883,

91234516854, 59

Question Number : 22 Question Id : 9139434299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of marble slabs of size 20 cm X 30 cm required to pave the floor of a square
room of side 3 meters is:

Options:

100
91394316385,

1 K
91394316886, 12U

225
91394316387
91394316888 20

Question Number : 22 Question Id : 9139434299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3 HiET 1 Sl dTel Teh IR &HHL i B9 oM & foIu 20 J2HET x 30 Gl R &
TR % fohaq THe 1e9ae ©

Options:

100

91334516855,



15

91394316386,
2En
91394316887,
23
91394316338

Question Number : 23 Question Id : 9139434300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the sequence of numbers 2, 8, 26, 62, 122, 212, x, ...... , the term x 1s :

Options:

91394316889,
91334516830,
913345168391,

91394316892,

Question Number : 23 Question Id : 9139434300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9= %M 2, 8, 26, 62,122,212, %, ..., H U x ¥ :
Options:

91334516859,
91334516830,
91234516891,

913943165892,

Question Number : 24 Question Id : 9139434301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code ?
Options:



91394316893, VXNPQSEC

o1394316394. Y PNSQEC

s1394316895, " ANDQOCE

XVPNSQCE

2153942168856

Question Number : 24 Question Id : 9139434301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHfqua Fe H LIFE F KMHJEGDF & &9 | for@l S €1 39 %2 § WORD &1 4 foan i &2
Options:

a1394316803, YRINPQSEC

91394316394, NV EPINSQEC

91394316805, Y ANPQSCE

91394316896, XVPNSQCE

Question Number : 25 Question Id : 9139434302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In conveying the same meanings, which of the following is incongruous ?
Options:
91394316507, LXCItE

‘ ) ‘l,
B912334516895. Flourish

Pros per
91394316899,

Thrive
91394316900,

Question Number : 25 Question Id : 9139434302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

JEIA (TR

215942168897,

SHfd

91334516895,

RkIE
EELE

9133451658399,

91334316300,

Question Number : 26 Question Id : 9139434303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?

?  :play::sing :song

Options:

Act
91394316901,

Scene
91394316902,

91394316903 [heatre

91394316904, Field

Question Number : 26 Question Id : 9139434303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i< T Y HEY o SATER @Il T W hH-91 Y5 399 2 7

2 HARH : M T

Options:

D
913942163901,
913942169302, ;

foruex

91234516303,



oS

912334516904,

Question Number : 27 Question Id : 9139434304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taken singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises (i)  All politicians are honest persons.
(i)  All honest persons are fair.
Conclusions : (a) Some honest persons are politicians.
(b)  No honest person is politician.
(c) Some fair persons are politicians.
(d) All fair persons are politicians.
Code :
Options:
o159451600s (@) (D) and (d) only
s1304z1600s (D) and (d) only
o139431600, (@) and (c) only
s1z0431690s, () and (c) only

Question Number : 27 Question Id : 9139434304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



% (a), (b) 3R (d)

91334516305,

faF (b) 3R (d)

21594216906,

fadh (a) 3R (o)

91234516307,

fa® (b) 3R ()

291234516908,

Question Number : 28 Question Id : 9139434305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a statement followed by three assumptions made from it. Which assumptions
are implicit in the context of the given statement ? Select the correct answer from the code
given below.

Statement s ‘Smoking is injurious to health’. - A warning printed on the cigarette
packets.
Assumptions (a) People read printed matter on a cigarette packet.

(b) People make careful note of a warning,.

(c) Non-smoking promotes health.

Code :
Options:
91394316909, Only (a)
91394316310, Only (a) and (b)
913943163911, Only (b)
91394316912, Only (b) and (c)

Question Number : 28 Question Id : 9139434305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

fa® (a)

91234516903,

faF (a) 3T (b)

H1334516910,

fad (b)

21594216911,

o (b) #AR (c)

9133451691%.

Question Number : 29 Question Id : 9139434306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mr. Rajesh, his sister, his son, and his daughter are fond of golf and often play together. The
following statements are true for all the four :

(a) The best player’s twin and worst player are of the opposite sex.
(b)  The best player and the worst player are of the same age.
Assuming that both twins are members of the group of four, who is the best player ?

Options:

son of Mr. Rajes
01594316913 Son of Mr Rd}&%h

ont =1
1304316014 Laughter of Mr. Rajesh

91394316915, Sister of Mr. Rajesh

91394316916, Mr. Rajesh

Question Number : 29 Question Id : 9139434306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91234516913,

ZIRENIET Rl

91334516914,

ZIRIEMICIICES |

2915334216915,

ZIRAEN

21594216916,

Question Number : 30 Question Id : 9139434307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Five persons Amit, Anil, Ajay, Atul and Anand live in a five storey building on different
floors. Amit lives above Ajay but below Anand. Atul lives above Ajay but below Amit. Anil
lives below Anand but above Atul. In which floor does Anil live ?

Options:

1504316917 econd floor

Thi M0
91394316918, ['hird floor

Fourth floor
91394216919,

Either third floor or fourth floor
91394316920,

Question Number : 30 Question Id : 9139434307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

UGN

91334516917,



IR UG S|

91334516915,

EIPIK|

912345169149,

1 1 T A1 =T 9

91334516920,

Sub-Section Number: 4
Sub-Section | d: 913943220
Question Shuffling Allowed : Yes

Question Id : 9139434308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

Consider the following two tables (I and II) in which table I shows the percentage of
students who joined and successfully completed the Ph.D. programme from the Universities
A to G and table II shows the number of foreign Ph.D. students enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are a total of 855
Ph.D. students in the University C and a total of 5700 students successfully completed the
Ph.D. programme from all the seven Universities together.

In accordance with the tables | and II, answer the questions that follow (Questions 31 - 35) :

I : Students University - wise I : Foreign Ph.D. Students in
University C
Nameof [% of students |% of students who Foreign Number of Ph.D.
University |who joined successfully completed Ph.D.| [Students students in
Fh.lD: (out of 5700) University C

A 22 18 American 65

B 15 17 Australian 46

C 10 13 African 25

D 17 16 European 35

E 08 09

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139434309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What percentage of students in University C is that of foreign students ?

Options:



91234516921,

pliIL
91394316922, 20%

250
91394316923."5'“

30 %
91394316924

Question Number : 32 Question Id : 9139434310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In case, there are 21 African students in University E, then approximately, what is their
percentage in that University ?
Options:
4%
91394318925,

2%
91394316926,

'_[E"'r
91394316927, '

20

91394316928 - ¢

Question Number : 33 Question Id : 9139434311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which University has the highest percentage of students who successfully completed the
Ph.D. programme out of the students who joined that University ?
Options:
.
Q1294316929

291234516920,

91334516921,

H13345165932. b

Question Number : 34 Question Id : 9139434312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of students who successfully completed the Ph.D. programme to the students
who joined in the University G ?

Options:

P_‘!.
91394316933,

R

91394315934,

G 11
91394316935,
91394315936, 9:17

Question Number : 35 Question Id : 9139434313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of students who completed the Ph.D. programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together, by :

Options:

304
913943164937,

278
291394216938,

399
91394316939,

369
21294216940,

Question Id : 9139434308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension
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11 : Tavafammea ot () o fagvi
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A 22 18 STHFET 65
B 15 17 e 46
C 10 13 T 25
D 17 16 i 35
E 08 09
F 12 15
G 16 12

Sub questions

Question Number : 31 Question Id : 9139434309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
favafarierd € (C) | facefl SE 1 ufded =1 2?2
Options:

15 9fdqerd

2915334216921,

20 gfderd

2153394216922,

25 giderd

H1334516923.

30 gfd9rd

2915339421659:24



Question Number : 32 Question Id : 9139434310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ffe favafaane™ £ (B) # 21 sTwis! 96 € d1 39 favafaened H 371 gfasra &1 2 ?

Options:

4 gfa9rd

912334516925,

2 gfa9rd

91334516926,

5 Hiderd

B91334516927.

3 Hfd9rd

91334516925,

Question Number : 33 Question Id : 9139434311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o Tereafoamerd 4 398 9991 oF 91 B0 § 9 4iu=. 21, FEEH 6l Ahediges IO i 9l B
%1 I=4qH Ufavd & ?

Options:

L
D1394216929.

B
91394216930,

I.‘
91394216931,

E
21394216932,

Question Number : 34 Question Id : 9139434312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
forvafemmer St (G) # div=. 1. S S Ihadges 0 FH 9l BE1 6 37 BE1 Sl I |
a1 &, forei 39 favafamamera ¥ yaw famn ar?

Options:
S ot
91394216933,
e
9159431649354,
G 11

2915334216955,



Saly
91394316936,

Question Number : 35 Question Id : 9139434313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fovafaae™d € (A) 3R 1 (D) § Fa oot W=l SR & 90 & 9 861 & GE&A
forgafarame™ i (C) 3R 3 (E) § Fa1 faams g3 o a1l SEi &l §e& 9 ol s1fus § 72

Options:

L | /
215394216957, 304
7,
31394316938, 278
L ]
215394216939, 399
L |
-
291334216340, 69
Sub-Section Number: 5
Sub-Section 1d: 913943221
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139434314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mohan tells his friends, Sohan (sohan@gmail.com), Rohan (rohan@yahoo.com) and John
(john@gmail.com), date of his birthday party through an email as shown below :

To :  sohan@gmail.com
(¢ . rohan@yahoo.com
Bec . john@gmail.com
Subject . My Birthday Party ison 15/01/2019
Hello all,
Call me if you can come.
Mohan

Which of the following cannot be derived from this email ?

Options:

01394316941 O0han knows that the birthday party will be held on 15/01/2019.

01294316545 Sohan knows that Rohan receives the email.



) nows that Jo ceives
1504316045 N han knows that John receives the email

John knows that both Sohan and Rohan receive the email.
91394316944,

Question Number : 36 Question Id : 9139434314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hred 3794 ﬁ:ﬁﬁ, qred (sohan@gmail.com), e (rohan@yahoo.com) 3R S (john@gmail.com)
&1 FETTER T & Wegq | 3199 SAfeT 1 e & fafy o 9R H S ©

To ; sollan@gmail.com

e . rohan@yahoo.com

Bce . john@gmail.com
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e
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Options:

e &1 a1 & T s=afeq =1 aet 15/01/2019 &1 €1

91334516941

| Higd =1 Ta1 € T Ued =i T 9 e |

913845165942

| e 1 Ual & T S =1 30 9 2 |

91234516943

| S 1 91 © T dred TR e SHi 1 38 U 2 |

91334516944

Question Number : 37 Question Id : 9139434315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their functions. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Functions)
(a) CPU (i)  Type of technology used on a flat-screen monitor.
(b) RAM (i) Controls all the functions performed by the computer’s other
components.
(c) ROM (iif) Temporary storage, also known as primary storage.
(d) LCD (iv) Permanent storage that is not erased when the computer’s
power is turned off.
Code :
(@ ) © (d
Options:

91234516945, (I_I'.) (IV) (LLI'.) (l)
91334516946, (1) (IV) (LLI'.) (I_I'.)
2915334216947, (l) (I'.LI'.) (IV) (I.I'.)

913345169458, [:I_I'.) (I'.I_I'.) (IV) (1)

Question Number : 37 Question Id : 9139434315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
I @ wgE fou T ¥ wue-l W e § HEfyd wee-dew fou v €, Seie wWe-1 H 3%
forameramy fou T €1 S TRl 1 gafad & 3R SUgE 2 H =999 I T ST S |

AYE-1 TE-11
(9Teg Hew) ( fomamereTa )
(a) HLWLF (i) Uk F9S BhiA dlel " T Y dahrieh |
(b) HRTTHA (i) T F = A & At HEf F AT Fa1 T
() SRSLTA (iii) SRR sEgrv, 99 Wgfhe Wervr & &9 § off S S ¢ |
(d) TAHLE (iv) Il SR S gl A fad YaE T & o1 |l 7Tl e |
e
@ (b) () (d)
Options:

291594216945, (LI'.) (IV) (LLI'.) (l)



91334516946, (l) (IV) (LLI'.) (I_I'.)

H913345165947. (1) (LLI'.) (IV) (LI'.}

91234516945, (LI'.) (LLI'.) (IV) (1)
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The gap between those individuals in a society who are computer literate and have access to
information resources like the Internet and those who do not, is referred to as the
Options:
91594316949 ICT divide

107 LA
91394316950. Digital divide

) 10N O T
91594316551 Information overload

e .
91394316955 lerabyte divide
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Options:

91394316949 Wg@ff TEH'IEE

i i

fefsied fease

91334516950,

b =
91394316951 AW SlElcdls

91234516952, E m

Question Number : 39 Question Id : 9139434317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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In computer terminology, which of the following best describes a device driver ?



Options:

Software that allows the user to control the operating system.
91394316953, ‘

/ at allows ser to contro . ing system.
o150az1c0s, Llardware that allows the user to control the operating system

o, ] T - ‘I rl-- = g S ] -) T -] 1 -] - 3 L- - - ] -] - b ¥ L- !-L- X
o150as1e0ss, OOftware that allows interaction between peripheral devices and the operating system

Hardware that allows interaction between peripheral devices and the operating system.
91394316956 v
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Options:

T2 GRS S TATET &1 Safen fawen =1 fE 33 &1 S7eel <1 2|

913945169535,

T2 BTSIAT S WA 1 AT foeen o1 fsm &2 &1 3Tee! <1 21

91594216954,

I8 HiFeaT fash R0l SIS SUH iR sifaefen faen & =g oiq: foman 2t &1

915394516955

I8 T s FRO SN YR 3R srgefen fawey & <= sfa:fman 2 B

91394216356
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Using a word processing software, an image on page two of a document is to be repeated on
(@] (%] (]
page four of the same document. Which of the following would enable this to happen ?

Options:

Cut and Paste
91394316957,

Copy and Paste
91394316958, ’

Find and Replace
91394316959,

Format and Replace
91394316960,
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U 9 GrAfET Wieaa? & War #3d gU, T4l Yord & g3 21 & fwdl fam 1 391 g & g 9n
TR e ol § | 39 TR § O fohg wregm | fopan smam ?
Options:

91334516957, | |\3:‘|§R
91334516958, : S:ﬁT

91334516959

_wﬁzﬁmgﬁ@nﬁﬁm

91334516960

Question Number : 41 Question Id : 9139434319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Which of the following statements are indicative of the vision of Blue-Revolution ? For your
answer select from the code :

(a) Promoting development of Botanical Gardens.

b) Creating an enabling environment for the full potential of fisheries in the country.

P

) Improving the income status of fish farmers keeping in view the sustainability concerns.

(
(
(d) Encouraging scientific research in forestry to increase the vegetative cover.
(e) Promoting integrated development of fisheries of the country.

(f)  Undertaking research in new areas like marine finfish.

Code :

Options:

(b), (c) and (e)

H1334516961.

(a), (d) and (f)

91334516962,

(b), (c) and (a)

913345163963,

(c), (d) and (e)

B91234516964.
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91394%16961_ (b), (¢) Sl (e)
a1304316062. (@) () Sl (f)
a1304316063. (L) (€) 3R (a)

B91334516964. (
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Below are given two sets. Set - I mentions the types of pollution, while Set - II indicates their
source. Match the two sets and select your answer from the code.

Set-1 Set - 11
(Pollution Type) (Source)
(a) Air (i) Point and non-point sources such as discharges from
industries etc.
(b) Land (ii) Industries, thermal power plants and motor vehicles
emissions.
(c) Water (iii) Roadway, aircraft, industrial as well as high intensity
sonar.
(d) Noise (iv) Over use of chemical fertilizers.
Code :
(@) (b) (o) (d)
Options:

91394316965, 1) () (i) (i)

H1234516966. (I_I'.) (IV) (1) (I_LI'.)



91394316967, (i) () (i) (iv)

91334516965, (IV) (I'.I_I'.) (I_I'.) (1)
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== 21 e fou e ¥ | AuE-1H yguv % YeR feu U § Safs wye-11 | 39 | 9 TE | S
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AOE-1 A1
( WSHUT HehTT ) (&)
(@) 9 (i) Tog 3R TR-fog Ea S =, sre | Sadsi
(b) 9fE (i) =T, gHe foea ST 3R Hied aEdl F S
(c) < (iii) TS, AIAM, M TR I=9 & gl AR
(d) == (iv) THMEE Jetehi 1 AATHER ITAN
e
(@) (b) () (d)
Options:

91394316965. (i) (@) () (i)
o139431608s, (1) (V) (i) (i)
91394316967, (i) (@ (@@ (i)

215942168965, (IV) (I_LI'.) (LI'.) (l)

Question Number : 43 Question Id : 9139434321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which of the following provisions are directly covered in the Environment Protection Act,
1986 ?

Options:
= CL 3 . 1 il o= - S ey .
91294316969, Protection and conservation of forests and matters connected therewith
> - . , :
: ol of w ) )
1504316070, L rEVENtion and control of water pollution

Protection and safety of wild animals, birds and plants and for matters connected
91394316971 therewith



Protection and improvement of quality of environment and preventing, controlling

- - —)4 % 4 = - -! 3
1394316972 and abating environmental pollution
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Correct Marks: 2 Wrong Marks: O

In the context of a School / University which of the following aspects of environment determine
the academic ethos ?

Options:

Attractive physical campus
91394316973, ?

Latest lab equipments
91394316974,

Patterns of human relations as evident in workplace
91394316975,

91394316976, Well-equipped lecture halls
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91334516973,



ST eh TNl YOI

91334516974,

FILIAT HHEGT T o &g

91334516975,

H133451697E, {‘j’Hlﬂd ATEATT HHI-hH
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In the two sets given below, Set - I specifies H,S level in a water sample, while Set - II
provides observations. Match the two sets and indicate your answer from the code given
below :

Set -1 Set- 11
(HL,S level in Water Sample) (Observation)
No H,S is produced

) i)  Dark black - high water pollution
(b) H,Sis produced and is small in quantity

(i) No colour - clean water
(c) H,Sis produced and is medium in quantity (iii) Light black - low water pollution

(d) H,Sis produced and is high in quantity iv) Black - moderate water pollution

(@) (b) (¢) (d)

9:;::3169??. (1) (ll) (LLI'.) (IV)
91234516975, [:ILI'.) (IV) (l) (LI'.)

91334516979, (IV) (l) (LI'.) (I_LI'.)

(i) () (v) ()

91334516950,
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qHE-1 AqE-11
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(c) H,S Icurfad Bl € iR Gkl | HedH Bhdl €1 (iii) &Rl hiell — 379 Sel Yguul
(d) H,S carfed S & 3iK 3qeh! O =9 aet €1 (iv)  ShTel - HEIH Sel gguYl

he :
(@) (b) (c) (d)
Options:
21394216977, (1) (I_l) (LL[) (IV)

91234516975, (LI'.I'.) (IV) (1) (I_I'.)

91334516973,
H1334516980.

Question Number : 46 Question Id : 9139434324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
Which organisation in India overseas the functioning and quality aspect of teacher education
programmes ?

Options:
Association of Indian Universities (AlU)
91394316951,
University Grants Commission (UGC)
91394316982. :
atio “ouncil of Educationg Training SBERT
o15045160ss LNational Council of Educational Research and Training (NCERT)

National Council for Teacher Education (NCTE)
91394316984,
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Correct Marks: 2 Wrong Marks: 0
Which of the following bodies/units in a University has a statutory function to perform ?
Options:

91394316935, Board of Studies

91594316936, Fimmance Committee

Board of Management
91394316987,

Research Degree Committee
91394316988,
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Options:

g3 giafd

91334516955,

ot |fafd

B91334516956.

2915334216987, A9 Sffs
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91334516958,
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Which of the following activity /programme in a University aims at Value Education in a
holistic frame ?

Options:

National Cadet Corps (NCC)
91394316989,

£ s Tusical Concerts
1594316990, Fine Arts and Musical Concerts

Inter-University Competitions
91394316991 g

Yoga Education and Wellness Centres
91394316992,
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Options:
L L e =
sissisigeRg Tl nac ol (T i )
91394316990, Aferd el ST Hiftd THE
91394316991,
4w foren siR giegfq &g (Fa9 He)
91394316932,

Question Number : 49 Question Id : 9139434327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
For promoting Human Values through programmes of the University System in India, which
of the following activities have great potential ?

Options:

91394316993, Lectures by experts



Association of NGOs
91394316994,

Mentoring by senior faculty members
91394316995, ’ ’

Inviting dignitaries/heads from national level organisations
91394316996,
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Options:

fererv=i & =ArEAH
915943169595,

T S 37 R G

912394316994,
91394316995, m

ST T o |31 & TOH ArT/ THE Rl 0
91594316996,

Question Number : 50 Question Id : 9139434328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Which of the following statements correctly describe, the functions/status of the National
Institute of Educational Planning and Administration a deemed to be University ?

(a) Capacity building and research in planning and management of education
(b) Educational Planning and Administration

(c)  Fully maintained by the Government of India like any Central University
(d) A Statutory Institute of Educational Planning and Administration

Select the correct answer from the code given below :

Options:
215942316997, [:-i-'l) -i-'l[‘ld (b)
9194316995, (a) El['ld (L)

(a) and (d)

21594216999,



(b) and (d)

B91334217000,
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Options:

(a) 3R (b)

91334516997,

(@) 3 (c)

H913345169595.

(a) 3R (d)

21594216999,

(b) 3T (d)

91334517000,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following groups of topographical features is the product of erosional
process ?

Options:

Eskers, Fiords, V-shaped valley, Seifs
913294217001,

Cirque, Arete, Playa, Stack
D1294217002,

Moraine, Barchan, Pinnacle, Wave-built platform
91394217003,

Levees, Stalagmites, Monodnocks, Drumlins
913294217004,
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Options:

teRd, fRate, voamsn O, faw
91394317001,

Teh, AL, TWHET, B
91394317002,

fente, swm, fafea (Rmafe), ao-fffE e
91394317003,

dfieftm, Rammse, wiHtg, gafen
91394317004,
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Plate margins and voleanic zones are closely related with each other.

Reason (R) : Most of the voleanic zones are located along convergent plate boundaries.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
215394217005,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394217006,

(A) is true, but (R) is false.
G1394317007.

(A) is falze, but (R) is true.
Q1294317008
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(A) 3 (R) g1 &t &, =g (R), (A) it Tt s 78 2 |
91394317008,
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91394317007, A
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Q139421 7008, "T{ﬁ
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Correct Marks: 2 Wrong Marks: 0
The upper part of the mantle upon which the crust of the Earth floats is known as
Options:

Barysphere
Q1=294=2170049, =P



Mesosphere
91394317010,

Hydrosphere
91334317011,

Asthenosphere
91234517012,
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Options:

215394217009, ( )

91334317010,

SR

912334517011,

TR

9133451701%2.
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Geologically, the oldest rocks in India are from

Options:

Dharwar region of Karnataka
91394317013

Aravali region of Rajasthan
91394217014,

Vindhyan region of Madhya Pradesh
215394217015,

Siwalik region of Punjab
91334217016,
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91394317013,

91234517014, * o

qeq % fae
91394317015, e o

912334517016, ® =
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Which one of the following is responsible for Global Change in the sea-level ?
Options:
91394317017, 1ostatic

91394317015, Clmatic

91394317019, —ustatic

Diastrophic
91334317020,
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91334517017,

9123345170158,

91334317013,

91334217020,

Question Number : 56 Question Id : 9139434334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following groups of scholars stressed on the role of lateral erosion by streams
in the formation of pediments ?

Options:

MecGee, Paige, Blackwelder
Q15942317021

McGee, Blackwelder, Johnson
Q13942317022.

Paige, Johnson, Lawson
91294317023,

Paige, Blackwelder, Johnson
Q1594217024
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Options:

Tt U, stehdeet
91394317021,

ieft, setehdTet, AT
91394317022,

U, Wie, e
91394317023,

U, wethdest, FiTdd
91394317024,

Question Number : 57 Question Id : 9139434335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Two-Cycle Theory on the origin of limestone caverns was proposed by
Options:

91394317025, Swinerton

91394317026, D2VIS

91394317007 Malott

91394317005, Cardner



Question Number : 57 Question Id : 9139434335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A1 Tee THEISAT 6 I HF g1-=h fagra feess g wega R e 0

Options:

912334517025,

1334517026,

1334517027,

B133451702Z5.

Question Number : 58 Question Id : 9139434336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following features is formed due to tectonic forces ?
Options:

Hanging valle
91394217029, g Y

U-sha valle
41394217020, ped Y

Blind valley
91394317031,

Rift valley
91334317032,

Question Number : 58 Question Id : 9139434336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foraretfen wet & wrw Pl o 2 fra @ 1 Fmfa gar 2 2

Options:

efi et

91334517023,

I ATHA TeA! =T
41394317030

91394317031, 79 T4



2915334217032, e

Question Number : 59 Question Id : 9139434337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Conrad discontinuity is found between

Options:
91394317033, Cuter and Inner core
91394317034, o and Sima
91394317035, ima and Nife

Upper mantle and Lower mantle
91394317036,

Question Number : 59 Question Id : 9139434337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
#iare fafewam Frafafaa o fross e o wrdt 8 2

Options:

2159421703535, W K el oS

foruer ofte fidt
91394317034,

91234517035, Rl ol

H1334517036, 0 e v freet Aem

Question Number : 60 Question Id : 9139434338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Name of Author) (Name of Book)
(a) Steers (i) Geomorphology
(b) Von Ricthofen (ii) The Unstable Earth
(c) Wooldridge (iii) Principles of Geomorphology
(d) Thornbury (iv) Spirit and Purpose of Geography

Code :



Options:

(a)—(iii), (b)—(ii), (e)~(i), (d)—iv)
B1334517037.

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334217038,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394317039,

(a)—(i), (b)—(iv), (e)-{iii), (d)—(ii)
915394217040,

Question Number : 60 Question Id : 9139434338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 118 gafea i ot = fqe me g 9 9 adt 39t 9fm .

Tt 1 I
(vrErh &1 ) (9% =1 714)

(a) e (i) Forrroietett

(b) a7 feais (i) g IRew ad

(c) Hesfta (i) fiferaen sifw Frmiwiarsf
(d) wradt (iv) forfe we s sife fmht

He:
Options:

(a)—iii), (b)id), (e)—(i), (d)—iv)
91234217037,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91234517035,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334217039,

(a)—(1), (b)—(iv), (e)-{iii), (d)—(ii)
91234217040,

Question Number : 61 Question Id : 9139434339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which part of the electromagnetic spectrum (EMS) causes human skin cancer ?
Options:

Gamma rays
91394317041,

91394317042, Ultraviolet radiation



91394317043, HCro waves

91394317044, adiowaves

Question Number : 61 Question Id : 9139434339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s aTes Saen (fwmwm.) S yma s Smam a0

Options:
91394217041, T
91394317042,

qEq T
21394217043,
D1394217044, a

Question Number : 62 Question Id : 9139434340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is required calories of heat to increase temperature by 10° C for
1 gram of water ?

Options:

91394317045, | oM
91394317046, O calories
91394317047, O calories
91394217048, 5 calories

Question Number : 62 Question Id : 9139434340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1T Fe it 10° H. % G99 7 T4 w4 F foru I f frat S i smavgsa gt & 2
Options:

91334517045, 1



10 Setdt

91334317046,
91334317047, 32
913342170458, >

Question Number : 63 Question Id : 9139434341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : During an equinox, the length of daylight is 12 hours everywhere on the
Earth.

Reason (R) : The circle of illumination passes directly through the poles, thus dividing the
lines of latitude in the middle.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394217049,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594217050,

(A) is true, but (R) is false.
91294217051,

(A) is falzse, but (R) is true.
Q1294317052

Question Number : 63 Question Id : 9139434341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= 3w fon o B, i & o i (A) R 3 g@0 96 (R) 8 | Sl i afen sft e few o
e &1 T4 F T I g |
iy (A) - g & o oot & aft vl o v T A aafa 129 i @6t 2
% (R) : Wohre <t e 1 OO0 e ga & dront St @ ofit 38 v wen # v wanat i fanfa
FA B |
Hhe:

Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394317049, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394317050.



(A) TEt B, (R) Tefd & |
91394317051, A

(A) T B, (R)T&E 2|
Q1394217052 "T{ﬁ

Question Number : 64 Question Id : 9139434342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Evaporation from water bodies is greater than that of land surfaces.

Reason (R) : Energy is not required to evaporate water.
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
915942170535,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594217054

(A) is true, but (R) is false.
Q91394217055

(A) is false, but (R) is true.
H91334517056,

Question Number : 64 Question Id : 9139434342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= &t o fou o 8, o @ v i (A) B ofte @ 7 (R) B 1 el i e off i fag o
e WA w T I g |

Ffirme (A) - o Freerl & arsaq ae 6t ga § st g @ )

o (R) : 6 & amvgq & fore ol <t amrawaear 741 2t 8 |

&

Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394317053, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394317054,

(A) Tt B, (R) Tefd & |
91394317055, h



(A) T &, Wg (R) @&t 2 |
91394317056,

Question Number : 65 Question Id : 9139434343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one iz labelled az Assertion (A) and the other iz labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Low moisture content in air leads to the formation of towering storm clouds.

Reason (R) : The energy transfer from equator to poles takes place through evaporation and
condensation.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317057,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q91294217058

(A) is true, but (R) is falze.
Q1394317059

(A) is false, but (R) is true.
Q1294217080

Question Number : 65 Question Id : 9139434343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 31 s feu o 8, formd @ us arfirper (A) @ 3 g@o 7% (R) B | Sl =t afen sl = fag mo
Fe I TAM FHE I A |
Sfirepy (A) : arg § 7t 6t F arn & I sEard aee A e # )
% (R) : YHeTeE & g i 37 ol &1 5 areee oft guee & wreqm @ g #
% :
Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394317057, = w &

(A) 3ft (R) ST w#t €, 7g (R), (A) it Tt samean 78 & |
Q1294217058

(A) TEt B, (R) Tefd & |
91394317059, A

(A) Ted ®, 9g (R) 9&t 8 |
91394217000,



Question Number : 66 Question Id : 9139434344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of cloud formation in ascending order.

Options:

Cumulus, Stratus, Cirrostratus, Altocumulus
Q12942317061

Altoeumulus, Stratus, Cumulus, Cirrostratus
Q1294317062

Stratus, Cumulus, Altocumulus, Cirrostratus
Q1394217063

Cumulus, Stratus, Altocumulus, Cirrostratus
Q1594217064

Question Number : 66 Question Id : 9139434344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hufamto it ufma =1 95 %9 d 98t 9 FaE0 |

Options:

Tt T, Y Tl geg wardt
91394317061,

e HrEt, Tall, Furt, veTy Tl
91394317062,

watt, sareft, we wardt, gany wad
91394217063,

FaTet, T, wey O, veTy it
91394317064,

Question Number : 67 Question Id : 9139434345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I with List 1T and choose the correct answer from the code given below :

List 1 List I1
(Type of Water Drops) (Fall Velocity in km/hr)
(a) Large rain drops i 7
(b) Drizzle droplets (i) 33
() Large cloud droplets (iii) 23
(d) Typical rain drops (iv) 0-3
Code:
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234217085,



(a)—(ii), (b)—(1), (e){iii), (d)~(iv)

91334517066,

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91334517067,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
91234517065,

Question Number : 67 Question Id : 9139434345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

gt 1%t gt 11 & gafaa Fifsw it = fge o ge 4 9 ad 33+t 9fe .

g1 I
(we1 & g 1 THR) (Terdfirerer wara &)

(a) a9 it 9t 44 W 7

(b) FEW 3 (i) 33
(c) =t fargs (iii) 23

(d) fafire anf 43 (iv) 0-3
e
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234217065,

(a)—(ii), (b)—(i), (e)-(iii), (d)—(iv)
H13345170EE,

(a)—(i), (b)—(ii), (e)—(iv), (d)—(iii)
91334217067,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234217088,

Question Number : 68 Question Id : 9139434346 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one iz labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Wind is the result of only the vertical differences in atmospheric pressure.
Reason (R) : Wind is nature’s attempt to balance inequalities in air pressure.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394217069,

Yes



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1394217070

(A) is true, but (R) is false.
Q13943217071

(A) is false, but (R) is true.
91334517072,

Question Number : 68 Question Id : 9139434346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= &t o fo mu &, o @ o i (A) B ofte @ o (R) 8 1 el i afen it e i mo
Fe WA F T I g |

e (A) : 9 SYRUSHE g § Featat siat &1 afoms 51 # |

7% (R) : 964, 914 & g1a A Sgarare i dqfed s % fou v & wm g

Hhe:
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar g |
91394317069 T T e t

(A) 3ft (R) ST =@t €, T (R), (A) i Tt same 78 # |
91394317070,

(A) TE B, (R) Teid & |
91394317071 A

(A) T 8, 9O (R) &&l 2 |
91394317072,

Question Number : 69 Question Id : 9139434347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Mid-latitude eyclones are low-pressure systems travelling from east to west
across the middle latitudes in both hemispheres.

Reason (R) : Most mid-latitude cyclones have a cold front and a warm front.
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139421707 3.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394217074,



(A) is true, but (R) is false.
9123943217075,

(A) is falzse, but (R) is true.
Q1294317076

Question Number : 69 Question Id : 9139434347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3w fon o B, i & o i (A) R 3 g@0 96 (R) 8 | Sl i afen sft e few o
e &1 T4 F T I g |

HIGHYT (A) : W FGTA Fhara 1 e § weI-3579 % g & ofwm f o g areft e ga

TER
7% (R) : AT 9€7 HETY Hhald H1 U a0 31 Tk T907 37074 21 2 |

T
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394317073, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394317074,

(A) T B, (R) Tefd & |
91394317075, A

(A) T 2, (R)TE 2|
Q129421707 6, m

Question Number : 70 Question Id : 9139434348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : The most stable conditions oceur during a temperature inversion, when the
temperature actually increases with height.

Reason (R) : Temperature inversion leads to greater vertical air movement.
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394217077,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394217075,

(A) is true, but (R) is false.
1294217079,



(A) is false, but (R) is true.
Q1394217050

Question Number : 70 Question Id : 9139434348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fr= 3t @ fog e 8, T @ o atfirrem (A) R of qga 7% (R) | e =t wfen ofk e fog o
e AT FHE I g |

SFT (A) : 719 =gk o 1A ufed B areft steafers st gand a7 €t @ s qrowe areqa §
FTE o Ty e # |

% (R) : 919 sqoha & e Sed arg T 2 # |
C T
Options:

(A) 3T (R) 4T (R), (A) i T8t =T & |
91394317077, o & = b

(A) 3itt (R) 3T wdt &, 9t (R), (A) it wet samea 78 & |
91394317078

(A) T 2, 9 (R) Terd 2 |
91394317079.

(A) T 8, Wg (R) @&t B |
Q1294217080

Question Number : 71 Question Id : 9139434349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following coasts has narrow continental shelf ?
Options:
91394317081, Chind

91394317050, Canada

91394317053, \orthern Australia

91394317054, Vestern coast of South America

Question Number : 71 Question Id : 9139434349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiga 4 @ fm e 9 gdinf Tardida 3% 2 2

Options:



91334217051,

91334517058z,

ol snfeferan

912334517083

zfeqor amfm 1 afveddt e
91394317084,

Question Number : 72 Question Id : 9139434350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following rocks is associated with “Cratons” ?

Options:

91394317085, Oranite
Conglomerate

91394317086,

91394317087, oAt
Phyllite

91394317088,

Question Number : 72 Question Id : 9139434350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafefaa & & -t wzm “Sea” B Gag 8 2

Options:

DEIEC

2915334217085,

grifeswrem

9123345170586,

1334517087,

firemse

291234517088,

Question Number : 73 Question Id : 9139434351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT and choose the correct answer from the code given below :
ListI List IT
(Mid-Ocean Ridge) (Ocean)

(a) Carlsberg Ridge (i) Pacific Ocean

(b) Mid-Atlantic Ridge (ii) Antarctic Ocean

(c) East Pacific Rise (iii) Indian Ocean

(d) Antarctic Ridge (iv) Atlantic Ocean

Code :
Options:

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334217089,

(a)—(iii), (b)(1), (e)-{ii), (d)-iv)
91234217030,

(a)-ii), (b)—(iv), (e)-(iil), (d)—~(1)
91294217031,

(a)—iii), (b)~(iD), (e)—(i), (d)iv)
91334217032,

Question Number : 73 Question Id : 9139434351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gafaa Fifsw it i fge 7o 5e 4 9 a8 33+t gfe .

et 1 Tt I
(weg-mgrariEa weh) (W)
(a) Hedar Fewh (i) WEId HEEET

(b) WEH-ITAIlCh hecsh  (ii) IHThiceh HEMETTL
(e) % fefees 1gw (iii) T&=g waEm@TH
(d) 3ETRiEH Feh (iv) IPeeifesh HEETH

®e:
Options:

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91594217089,

(a)—(iii), (b)—(1), (e)—ii), (d)~(iv)
91334217030,

(a)—ii), (b)—(iv), (e)-(iil), (d)~1)
91234217031,

(a)—iii), (b)id), (e)—(i), (d)—iv)
91234217032,

Question Number : 74 Question Id : 9139434352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which one of the following numbers denotes major zoo-geographical regions of the world
established by A.R. Wallace ?

Options:

o

2912345170393,

91334317034,

215942170395,

2913345170396,

Question Number : 74 Question Id : 9139434352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafefiga & & -t gem vam. stad gr e fava & wp@ s=g-viifas wen it gofdt 2 2

Options:

o

91334317033,

912334517034,

912334517035,

91334517036,

Question Number : 75 Question Id : 9139434353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following marine features is not supporting for speedy growth of coral
reefs ?

Options:

91394317097, Close to island shore

31394317035, Near to small channel

Around a lagoon
91334317039,

Guyots and seamounts
215394217100,



Question Number : 75 Question Id : 9139434353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa 4 @ st ol s gt 6 sg@t % ot T % fou g 78 22

Options:

£ 72 = gy
91394317097,

2123451703958, B T F ol

& HE-IH
91394317099 s

e A e
91394317100 e !

Question Number : 76 Question Id : 9139434354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is nef an example of “natural air pollution™ ?
Options:

Ash from voleanic eruptions
91394217101,

91394317100, Nuclear test

Spores released by plants
Q1394217103 po yP

91394317104 "Vindblown dust

Question Number : 76 Question Id : 9139434354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefefiaa & & S “wrfae arg vguor” 1 JgEw TE 2 0

Options:

sararqdt faerte @ Feelt ta
91394317101,

~fFerat glteo
91394317102,

diai gra faefaa ey

91334517103,



qeq g 3T TS 4
Q1294217104

Question Number : 77 Question Id : 9139434355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following components is not taken into consideration by the
Environmental Pollution Assessment (EPA) of US to calculate the Air Quality Index (AQI) ?

Options:

51394317105, Carbon dioxide

91294217106, Ground-level ozone

91394317107, Particulate matter
Sulphur dioxide

Q1394217 108.

Question Number : 77 Question Id : 9139434355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prferfiaa 9 @ form wesh v g um. % wataror wgwor Frafor (3.4.0.) gro ey o ge
(w734, ) &t e o oo femm A fomam sman 2 2

Options:

91394317105, T ST
91394317106, TR S
91394317107, TN S
91394317108, TCT SIS

Question Number : 78 Question Id : 9139434356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(Location of Yardang) (Lithology)

(a) Jaisalmer, India (i) Clay

(b} Khash Desert, Afghanistan (ii) Eocene limestone

(c) Sinai (iii) Caliche limestone

(d) Saudi Arabia (iv) Nubian sandstone

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334217109,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91234217110,

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
915294217111,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
913324217112,

Question Number : 78 Question Id : 9139434356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gafaa Fifsw it i fge 7o 5e 4 9 a8 33+t gfe .

et 1 T 1T
(T & TaT) (srymfasm)

(a) GO, A (i) =&

(b) @ tfiream, e miEaT (i) 3aE T Ter

(e) formg (iii) Hferht =1 gea

(d) HF4 37 (iv) —gfera ae=m e
% :

Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)(iv)
91594217109,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
913324217110.

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334217111,

(a)—(iii), (b)—(iv), (e)-i), (d)—(ii)
91234217112,

Question Number : 79 Question Id : 9139434357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following is correct related to a major wave of extinction ?

Options:

When man was still predominantly a hunter and gatherer
215394217113,

During the Iron Age
Q1=294=217114. & Ag

During the Bronze Age
9123494217115, & Ag

During the Post-Industrial Revolution
91394217116,

Question Number : 79 Question Id : 9139434357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Prefefian & S fagfa % 9@ a0 % ag § 98 2 2
Options:

et oft s U e ST TR F 9T o
91394317113 = h A

ot I o g

91234517114,

FIET T % G
91394317115,

Faitfires shifa & 9y
91394317116,

Question Number : 80 Question Id : 9139434358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of vegetation belts at different altitudes in the equatorial
mountains of East Africa in descending order (top to bottom).

Options:

Lowland Forest, Bamboo Zone, Ericaceous Belt, Afro-Alpine Belt
Q91594217117

Afro-Alpine Belt, Ericaceous Belt, Bamboo Zone, Lowland Forest
Q91294217 118.

Afro-Alpine Belt, Ericaceous Belt, Lowland Forest, Bamboo Zone
91394217119,

Bamboo Zone, Lowland Forest, Ericaceous Belt, Afro-Alpine Belt
91294317120,



Question Number : 80 Question Id : 9139434358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gdff snfiert % fagadta vdat & firg-firm saamm w amefos-gae # 9ed w0 F (S0 d 9= 6t 1)
HE S FR 7

Options:

et wiftr 5, @i &, Wferwa-taen, snfrhl-atears T
91394317117,

FFIRI- 31T TEen, Wehwa-taen, arg &9, e o e
91394317118

BRI e, Wfehea-taan, e ufy 99, =59 &=
91394317119,

arg &=, e yfy a9, tfehea-taan, shrhl-sreaTsT TEen
91394317120,

Question Number : 81 Question Id : 9139434359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Nomothetic approach in geography emphasizes upon
Options:

Empirical study
91394217121,

Inductive study
21594217122,

Law making study
91394317123

Ideographic stud,
913942317124, P Y

Question Number : 81 Question Id : 9139434359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e 7 Arrdfes s frefafes 4 @ e s waa gm 2

Options:

HIHEI AT
91394217121,
91394217122,

91334517123, R



HIGHeAh AT
9153394217124,

Question Number : 82 Question Id : 9139434360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of paradigm was propounded by :

Options:

91394317105, —mmanuel Kant

Peter Haggett
91334317126,

91394317127, cet

91394317128, Tubn

Question Number : 82 Question Id : 9139434360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fres (Trerem) it smmumon feea & 2

Options:

HHA Fid

91334517125

et ¥

91334517126,
91334517127,
91334517128,

Question Number : 83 Question Id : 9139434361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and choose the correct answer from the code given below :

List I List 1T
(Contribution) (Author)

(a) Regional Geography (i) O.H.K. Spate
(b) Systematic Geography (ii) Griffith Taylor
() Stop-and-go determinism (iii) Carl Ritter

(d) Probabilism (iv) Humboldt
Code:



Options:

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
B91334517129.

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913342171320,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234217121,

(a)—(iii), (b)—(i), (e)-ii), (d)~(iv)
91594217132,

Question Number : 83 Question Id : 9139434361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 118 gafea i ot = fqe me g 9 9 adt 39t 9fm .

i1 T
(grmem) ()
(a) & PiE (i) ofu=%. T
(b) *fEeTEg Y (i) farfper Zem
(c) w9-vs-m fygforETe (iil) el fex
(d) HWTHAER (iv) BHETee
e
Options:
(a)—{iv), (b)—(iil), (e)—{ii), (d)—(i)
91394317129,
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91394317130,
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394317131,
(a)—{iii), (b}—(1), (e)—(ii), (d)—{iv)
91394317132

Question Number : 84 Question Id : 9139434362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The famous text on classical astronomy entitled “Almagest” was authored by
Options:

91394317133 Lratosthenes

Hipparchus
2915942171354,



Ptolemy
91394317135,

91394317136, a0

Question Number : 84 Question Id : 9139434362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et wte faem W “stenrie” ame ufig e % dEe #H § ?
Options:

et

912334517123,

91234517124,

912334517135,

&l

91334517136,

Question Number : 85 Question Id : 9139434363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List 1T and choose the correct answer from the code given below :

List I List IT
(Book) (Author)

(a) Makers of Modern Geography (i) Ratzel, F.

(b) All Possible Worlds (ii) Hartshorne

(e} Anthropogeographie (iii) Dickinson, R.E.
(d) Nature of Geography (iv) James, P.E.
Code:

Options:

(a)—ii), (b)), (e)-iv), (d)—(1)
91334517137,

(a)—(i), (b)—iv), (¢)—(iii), (d)—(ii)
91234517128,

(a)iii), (b)—(iv), (e)-i), (d)—(ii)
91334517129,

(a)—liv), (b)—(ii), (e)—(iii), (d)—(1)
91334317140,

Question Number : 85 Question Id : 9139434363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

gt 1t =t 118 gafea Aifem ot = fge me g 4 @ ad 39t 9f
gl | 1T
(FE) (vi@)

(a) T ATF AieA R () o, OF.

(b) =ife qifteet aveq (i) ErEwi

(¢) ugrarfaTa (iii) feferrem, am g,

(d) = e faomd (iv) o, 6 g,

$he:
Options:

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394317137,

(a)—(i), (b)—(iv), (e)-{iii), (d)—(ii)
91594217138,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91334217139,

(a)—{iv), (b)(id), (e)-(iil), (d)~1)
91394317140

Question Number : 86 Question Id : 9139434364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following geographers correlated the colour of ocean water and its salinity ?

Options:

91394317141, “Masudi

91394317142 1pn-Sina

91394317143 1pn-Khaldun

Al-Magqdisi
91394217144,

Question Number : 86 Question Id : 9139434364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeofiaa 4 & fem spreeean 3 wemarm % @ % @1 o saht SavaT w1 gegeay " ?

Options:

TGl

91334517141,



i
91394317142, ¥

-aTeg

291594217145,

wre-HfFe
913384517144,

Question Number : 87 Question Id : 9139434365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who amongst the following scholars has propounded the concept of Time-Space Geography 7
Options:

Hiagerstrand
913324517145,

Harvey
91394317146,

Hagpett
91394217147, 88

Huntington
91394217148, gt

Question Number : 87 Question Id : 9139434365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafeafiga 7 & fem fagm 3 wre-vam (ergn-wi) yrre it stawmom & 2

Options:

amEE

291594217145,

91334517146,

912334517147,

firare |

912334517148,

Question Number : 88 Question Id : 9139434366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who amongst the following has authored the book ‘A Hundred Years of Geography' 7

Options:



Huxley

91394317149,
91394317150, Mo B
91394317151, | rarrison-Church R.J.
91394317152, | reeman LW,

Question Number : 88 Question Id : 9139434366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 & = ¢ grge sad o1te Ry’ geos & d@® § 2
Options:

e

913384517149,

UEECE

91234517150,

efma=e ams,
91394317151,

T & gey,
91394317152,

Question Number : 89 Question Id : 9139434367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who amongst the following developed the concept of mental map 7

Options:

91394317153, Coouldand White

91394317154, oWnsand Stea

Boulding and Héigerstrand
91394517155,

91394317156, 2arinen

Question Number : 89 Question Id : 9139434367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefigs 4 & frg aefas aefa (dew &) i sqaamon fasfim $i 2
Options:

Tieg 3T =amse
91394317153,

91234517154, M

aifeen it amETE
91394317155,

91334517156,

Question Number : 90 Question Id : 9139434368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List I with List II and choose the correct answer from the code given below :
List I List IT
(Geographer) (Contribution)

(a) H.H. Barrows (i) Cycle of Erosion

(b) W.M. Davis  (ii) Geography of Human Ecology

(e) M. Jefferson  (iii) Morphology of Landscape

(d) Carl Sauer (iv) Laws of Primate City

Code :
Options:

(a)—iv), (b)—(ii), (e)—(i), (d)—iii)
91394317157,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334517158,

(a)—(iii), (b)—(iv), (e)—(il), (d)—(1)
91394317159,

(a)—(1), (b)(iii), (e)-{ii), (d)~iv)
91234217160,

Question Number : 90 Question Id : 9139434368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 11 & gafaa Fifsw it i fge 7o 5e 4 9 a8 33+t gfe .
gl qe I
(prirereran) (dver)

(a) TH.UE. WY () WA T

(b) Teg . @ (i) wWa Tftds 1 PTa

(¢) UH.HARTEA (i) ¥g¥E 1 A famm

(d) I GE3R (iv) W@ T Fem

%2
Options:

(a)—iv), (b)-(ii), (e)—(i), (d)iii)
91334217157,

(a)—(ii), (b)—(1), (e)-(iv), (d)—iii)
91394317158

(a)iii), (b)~(iv), (e)-(id), (d)~(D)
91394317159,

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394317160.

Question Number : 91 Question Id : 9139434369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Central Business District (CBD) of a city has high concentration of wholesale
stores, offices and cultural and recreational activities.

Reason (R} : Prices and demand of real estate increases as distance towards CBD reduces.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594217161,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594217162

(A) is true, but (R) is false.
91394317163,

(A) is false, but (R) is true.
91234517164,

Question Number : 91 Question Id : 9139434369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |
sfirame (A) - Tt T & Sita sgaama e (4.4 ) & ofe =R, srfaa ot gl e
wettaes fefaferat s= S ardt € 1
7% (R) : @48, it 3 gt e & wy-mny fae e 6t Fiwa oft afn # sgiadt gt st @ |
% :

Options:

(A) # (R) q91 (R), (A) it 98 samEzn
91394317161, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394317162,

(A) Tt B, (R) e 2 |
91394317163, g

(A) TEd B, (R)TE & |
91394217164, hR

Question Number : 92 Question Id : 9139434370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements correctly explains the difference between Gravity
model and Potential model ?

Options:
Gravity model does not take distances into account, while Potential model takes distances

91394317185, Mo account.

Gravity model makes no provision for size of places, while Potential model considers size of

places.
91394217166,

Gravity model deals with only two places at a time, while Potential model accounts for

interactions between many places.
91394217167,

Both Gravity model and Potential model are the same.
291394217168,

Question Number : 92 Question Id : 9139434370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga o & - Fam wdt ot @ e gied ot feafas niza & & siau it saren
AT B 2
Options:

Tacareyu diee gt W famm 78 e, sefn foufos wiea @ wRem s 2
91394317165, « ! &



TaeaTRYUl HiSe T & T 1 M9 T& Hial & Jath feufrs aiea vt % smen w fa=m

FATE |
91394317166,

TTacaTRYUl HiSe Toh a1 hadl gl T & Hatad & el feufors gise s et % o= o w

T 2 |
91394317167,

91394317168, S0 1 g 3R feuforst wfee S oohamm 2 |

Question Number : 93 Question Id : 9139434371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT

(Historic Period) (Duration)
(a) Mughal (i) 600 BC to AD 500
(b) Pre-Historic (i) AD 1526 to 1800
(¢) Early Historical (iii) 2350 to 1800 BC
(d) Medieval (iv) AD 600 to 1800
Code :

Options:

(a)—{iv), (b)—(1), (e)—(iii), (d)—(ii)
91394317169

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91234217170,

(a)—(1), (b)—(iv), (e)(ii), (d){iii)
91394317171,

(a)—(ii), (h)—(iii), (e)—(i), (d)—(iv)
91394317172,

Question Number : 93 Question Id : 9139434371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gufea Fifsw st i g 7o ge 4 o ad o+t 9fe

gt gt I
(Uferfren srafar) (srafir)
(a) e (i) 600 %HT 4d & 500 $edft

(by writfaerfaes (ii) 1526 & 1800 F&=
(c) qd Ufaafien (iii) 2350 # 1800 $a1 g
(d) HeTHTe (iv) 600 © 1800 3&=
E:

Options:



(a)—(iv), (b)), (e)—(ii1), (d)—(i1)
91334517169,

(a)—(ii1), (h)—(ii), (e)—(iv), (d)—(1)
91334517170,

(a)-i), (h)—iv), (e)—(ii), (d)—(iii)
91234517171,

(a)—(ii), (b)—(iii), (e)—=(i), (d)—(iv)
2915334217172,

Question Number : 94 Question Id : 9139434372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following Union Territories was the most urbanised one in 2011 ?

Options:

Lakshadweep
H913384517173.

91394317174 D2man and Diu

Pondiche
Q12943217175 y

91394317176, NCT of Delhi

Question Number : 94 Question Id : 9139434372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a¥ 2011 # Frafafias derrsa 491 7 watfus welss v a2
Options:

H&"Ii,‘l";l
2915334217173,

291594217174

2915334217175,

fegt wsdta Tt g

912334517176,

Question Number : 95 Question Id : 9139434373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT and choose the correct answer from the code given below :

List I
{(Term)
(a) Cohort

(b) Dependency

List II
(Explanation)

(i) Measure of productive population
Ratio (ii) Graphic method of representing age and sex composition

(c) Population Pyramid (iii) Population group unified by a specific common characteristic

(d) Total Fertility Rate (iv) Average number of children a woman bears throughout her
child bearing years

Code :
Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394317177,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91394317178,

(a){iii), (b)—(1), (e)—{ii), (d)—{iv)
91394317179

(a)(ii), (b)—iv), (e)(iii), (d)—(i)
912394217180,

Question Number : 95 Question Id : 9139434373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 118 gafea Aifem ot = fge me g 4 @ ad 39t 9f

g1 |t 1T
(72) (=ame)
(a) HETe (i) IedTEH FAEEHT H HIH

(b) Fsfea srgure (i) 3w ik fem g 6t gl et miftees fafa

(c) e frafie (i) fadrs wom fadmanedt @ 92 swden o

(d) &t T L (iv) T I B a1l 991 | wfgenst g s
o = et ==t <t sitaa T

%

Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394317177,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91394317178,

(a){iii), (b)—(1), (e)—{ii), (d)—{iv)
91394317179

(a)(ii), (b)—iv), (e)(iii), (d)—(i)
912394217180,



Question Number : 96 Question Id : 9139434374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and choose the correct answer from the code given below :

List I List 1T
(Model Concept) (Definition)
(a) Sector Model (i) Model of the internal structure of cities

in which social groups are spatially
arranged in a series of rings

(b) Concentric Zone Model (ii) Nucleus of a city where retail stores
and offices are concentrated

(e) Bid-Rent theory (iii) Theory that refers how price and
demand on real estate changes as
distance towards CBD increases

(d) Central Business Distriet (CBD) (iv) Model of internal structure of cities in
which social groups are arranged
around a series of sectors or wedges
radiating from CBD

Code :
Options:
(a)—(iii), (h)—(1), (e)-iv), (d)—(ii)
91294217151,
(a)—ii), (b)—(i), (e)—iv), (d)—(iii)
91294217152,
(a)—(iv), (b)—(1), (e)—(iii), (d)—(ii)
91294217183
(al—(i), (h)—(ii), (e)—(iv), (d)—(iii)
912942317154,

Question Number : 96 Question Id : 9139434374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(a)—(iii), (b)—(1), (e)~(iv), (d)—(ii)
91394317181

(a)—(ii), (b)—(i), (e)—iv), (d)—iii)
913943217182

(a)~(iv), (b)—(i), (e)—(iii), (d)—(ii)
91394317183,

(a)—(1), (b)—(ii), (e)—{iv), (d)—iii)
91394317184,

Question Number : 97 Question Id : 9139434375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following principles is representive of the
following figure of Christaller's Model ?

D

Options:

Administrative Principle
91394317185,

Marketing Principle
91394217186,

Transport Principle
Q13943217 187. Sp0 P



Threshold Principle
91394317188,

Question Number : 97 Question Id : 9139434375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freafarfiad o & wia-an fagra freefen uiga & fe foa &6 ufdfafeaa

AT 2 7
e e
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® ®
Options:
vemafa fage
91394317185,
arar fagm
91394317186,
91394317187, e e
91394317188 el Rrgre

Question Number : 98 Question Id : 9139434376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following human settlement sites is
representative of the following figure ?

Options:



int settlement site
91394217189, Dry po

Wet point settlement site
91394217190,

91304317191, Defence settlement zite

Bridgin int settlement site
91394317192, & po

Question Number : 98 Question Id : 9139434376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfafas 8 8 ®E-a1 g gt e e = o esiar 202

Options:

T+ farg et vt

91334517189,

T fog =t T

2915334217130,

913345171391, el

forfom farg arwct wren
91394317192,

Question Number : 99 Question Id : 9139434377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following groups of states in India recorded more than 40 percent of urban
population as per 2011 census ?
Options:

Maharashtra, Tamil Nadu, Gujarat
Q1294317193

Goa, Mizoram, Siklkim
912394217194,

Puducherry, Goa, Nagaland
91294317195, i 8

Maharashtra, Rajasthan, Tripura
Q91594217 1%96.

Question Number : 99 Question Id : 9139434377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2011 &t ST % FER Hd & Freafafas § @ fea o wg F wwl smardt 40 wfrem @ s
sfera it 7§ oft 2

Options:

wenrse, dfte g, e
91394317193, S

91394317194,

gg=it, e, ArTee
91394317195,

HalIsg, e, iﬁﬂ(l
913345171396,

Question Number : 100 Question Id : 9139434378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following demographic parameters represents the population growth rate 7
Options:

Natural change and crude birth rate
91394317197,

Natural change and net migration
91394317198, &

Net migration and fertility rate
91394317199, v

Net migration and birth rate
Q1=294=217200,



Question Number : 100 Question Id : 9139434378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 @ sv-m sifedr arge smaen sfg gt qafm 2 2

Options:

srehfereh ftad= 3 awitfea o= &
91394317197

sl afads ok $a warm
91394317198,

el aTd S T 5T
91394317199,

Fel yard I W g
91394317200,

Question Number : 101 Question 1d : 9139434379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following factors of a boundary determination between the areas of two
competing firms is correct, if the gradients of delivered price and freight rate of firms’
production is same ?

Options:

51294217201 Raw material available

Output of firm
91394217202,

91394317203, Closer distance from the location of firms

Price at plant/firm
91394217204,

Question Number : 101 Question Id : 9139434379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiaa & & e 3 wftreadt ot % &1 % e dim fufor % s % w0 d ad &, 9l
HH/IeaTEA I gye hraa ht vavar iR gard B g Ewe wdt g 2

Options:

91394317201, T S

i FeqTgA
2912334517202,



FH % T @ gl 1 A B
91394317203,

91334517204, T W

Question Number : 102 Question 1d : 9139434380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following authors initiated concept of ‘Isodapanes’ in space-economy 7

Options:

91394317205, - o0Ver
91394317206, 1+ 0%
91394317207, T ander
91394217208 A. Weber

Question Number : 102 Question Id : 9139434380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freferfiaa & & form o 7 sfafg-srderaen & “amgastn” 6 doern i o 2

Options:

3.
21394217205, =

U, died
21394217206,
21394217207, A,

T, de
91394217208,

Question Number : 103 Question Id : 9139434381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
With the outbreak of World War 11, the interest in political geography was focussed on

Options:

Immediate problems of international relations
91334317209,



Indu related development
912394317210, stry P

Economic development issues
91394217211,

Regional cooperation with the neighbouring countries
Q1394217212. pe 8 8

Question Number : 103 Question Id : 9139434381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feefta forva 3 % @ & worifes wpiter & wfa form o i oft 2

Options:

FaUeir eyl $ ek gy

91334317209,

91334217210, = 3

s e ¥ 52
912394217211,

91334517212, TR < 5 T

Question Number : 104 Question Id : 9139434382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following can be categorized as a primary activity ?
Options:
Coal mining

91334517213,

Teaching
91324317214,

91394317015, Handicraft

Car manufacturing
291394217216,

Question Number : 104 Question Id : 9139434382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga 7 & fed wafires wrfwam & w9 1 arffea e s awar 2 2

Options:



2915334217213, T

91334517214, R

9153394217215,

91334517216, s

Question Number : 105 Question Id : 9139434383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Rural house is an index of the
Options:

91394317217, Tnvironment

913943172158, Racial Element

Fashion and Style
91324317219,

Modern Architectural Design
91394317220,

Question Number : 105 Question Id : 9139434383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
areftor e ferment g 2 2

Options:

1334517217,

91334317218, a

91334517219, T del

| ayfes aregdan fesmea

912334517220

Question Number : 106 Question Id : 9139434384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following economic principles is correct for organisation of settlements
based on K = 4 presented in the Christaller’s central place model ?

Options:

Marketing
91334317221,

91394317000 ‘dministrative

Transport
91334317223,

Agricultural activities
Q1394317224

Question Number : 106 Question Id : 9139434384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foredert & e worm wige o Wed K = 4 % 9 9 aferdi & e % fou Frafafias & @ sk
anfife fagra wdt & 2
Options:

912334517221,

91334517222,

91334517223,

A 93w

91334517224

Question Number : 107 Question Id : 9139434385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following categories of urban land use as per given
graph has the highest gradient of its economic rent at 2 km distance ?

Commercial

Industrial

Residential

Economic Rent

Green land

S

I !
0 2 4

Distance (km)
Categories :
Options:
91394317005, Creen land
9139431700, Tesidential
91394317007 Commercial
913943170pg, 1ndustrial

Question Number : 107 Question Id : 9139434385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

912334517225,

1334517226,

21594217227,

91334317228,

Question Number : 108 Question Id : 9139434386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is correct for the cost-input graph of industrial production
system, where point of profit maximising output is

Options:

Marginal cost is not equal to marginal revenue
Q1394317229. e

Marginal cost equals marginal revenue
Q1294217220 e

Average cost equals average revenue
91334517231, 8 e 8

Total cost equals total revenue
21394217232,



Question Number : 108 Question Id : 9139434386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Hwia @mTe, @i A" % Suet T8 8
91394317229,

draia «rTa, i A o 90 8
91394317230,

Jftaa @nTa, aftad 3 % T 2
91394317231,

T, AT o a0 B
91394317232, ¥ ¥

Question Number : 109 Question Id : 9139434387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following transport networks depicts : Vertices 6, Edges 6,
Diameter 3 7

4 3 4 3 3 3 4
B
3 b}

6 6 4 5 5
Options:
21394217233, A
91394217234, B
91394217235, ¢
21394217236, b
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Correct Marks: 2 Wrong Marks: 0
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Options:
21394217233, A
91394217234, B
C
91394217235,
91394217236, b

Question Number : 110 Question Id : 9139434388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Most transportation networks begin as branching networks.

Reason (R) : Because the first priority of the transport agencies that build them is generally
to get all points connected.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21594217257,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
915942172328,

(A) is true, but (R) is false.
Q1594217259

(A) is false, but (R) is true.
Q1294317240

Question Number : 110 Question Id : 9139434388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394317237, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394317238,

(A) T8 B, T (R) Teid 2 |
91394317239,

(A) T &, WG (R) &t 2
91394317240.

Question Number : 111 Question Id : 9139434389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following terms is generally used to express the relationship between
cultural groups and their natural environment ?

Options:

Cultural ecol
Q1294217241 0By

Cultural convergence
91394317242

91394317243, Cuitural diffusion

91394317044 CUltural hearth

Question Number : 111 Question Id : 9139434389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

Aregias aTia=

91334517241,



wiEgfas s

91394317242
HieFHfae Few
91394317243
HitFHfas Wit 7
91394317244

Question Number : 112 Question Id : 9139434390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following groups of states of India was ranked as top three States in
proportion of Scheduled Tribes population to total population according to census 2011 ?

Options:

Madhya Pradesh, Nagaland, Jharkhand
Q1294317245

Mizoram, Bihar, Rajasthan
Q1394z317246.

Lakshadweep, Mizoram, Nagaland
Q1594217247

Nagaland, Rajasthan, Jharkhand
Q1294317248

Question Number : 112 Question 1d : 9139434390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafiga # & wra & fora o7 wg # 2011 & S % sigER sl St i smard
e AT B TG TaTerh § ?

Options:

91394317245,

Q1394217246

Aerga, s, AT
913943217247,

91394317248,

Question Number : 113 Question Id : 9139434391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT and choose the correct answer from the code given below :
List I List II
(Term) (Definition)
(a) Language (i) Differences in vocabulary, pronunciation,
rhythm and speed that set speakers of same
language apart from each other

(b) Dialects (ii) An organised system of spoken words, used
to communicate with mutual understanding

(c) Vernacular (iii) Established language used for
communication by people with mutually
incomprehensible native tongue

(d) Lingua Franca (iv) Non-standard language or version of a
language that is native to a local area

Code:
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234217249,

(a)-(ii), (b)—iv), (e)1), (d)iii)
91594217250,

(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
91394317251,

(a)(ii), (h)—1), (e)-(iv), (d)iii)
91394317252

Question Number : 113 Question 1d : 9139434391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
(a)—(i), (b)—(ii), (e)~(iii), (d)~(iv)
91394317249,

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394317250



(a)—{iv), (b)id), (e)—(i), (d)—iii)
91334217251,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
912334217252,

Question Number : 114 Question 1d : 9139434392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(Cultural diffusion) (Definition)

(a) Relocative Diffusion (i) Upward/downward movement of

dispersal through a system of classes
or centres

(b) Hierarchical Diffusion (ii) When acceptance of or information
about an innovation spreads
throughout the society

(¢) Expansion Diffusion (iii) When expansion affects almost
uniformly to all individuals and

areas from a source region

(d) Contagious Diffusion (iv) Geographical transfer of culture

traits by movements of people across space

Code :
Options:
(a)—i), (b)—(ii), (e)—iv), (d)—(iii)
291394217253,
(a)—(iii), (h)—(ii), (e)~(i), (d)—iv)
91594217254,
{a)—ii), (b)—(1), (e)-{iii), (d)—(iv)
91394217255,
(a)(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394217256,

Question Number : 114 Question Id : 9139434392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:
(a)—(i), (b)—(iD), (e)=(iv), (d)—(iii)
91394317253,
(a)—~(iii), (b)—(ii), (e)—(1), (d)—{iv)
91394317254,
(a)~(ii), (b)—(1), (e)(iii), (d)(iv)
91394317255,
(a)—(iv), (b)—(D), (e)—(ii), (d)—(iii)
91394317256,

Question Number : 115 Question Id : 9139434393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following subjects/functions is listed on the Concurrent List in India ?

Options:

Post and Telegraph
A1394217257. cerap

9139431705g, Defence

91394317059 1 rice Control

Banking
91394217260,

Question Number : 115 Question 1d : 9139434393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



2153394217257, 3 3 T

B1334517258. L

91334517259,

91334517260,

Question Number : 116 Question Id : 9139434394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of Lebensraum gained popularity in the field of political geography following
the publication of

Options:

Geographical Pivot of Histo:
Q1294217281 grap v

Politische Geographic
91394317262,

Making of Political Geograph
Q1394317263 8 Braphy

Foreign Affairs
21594217264,

Question Number : 116 Question Id : 9139434394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiaa & @ form wermm % arg wfifoss e & § sieea 6 sEuren |t g 2
Options:

faarmfesa fiae ofw
91394317261 e

91334517262,

91334517263, A% ik

91334517264,
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The term ‘Geopolitics’ was coined by

Options:

91394317065, Haushofer

Kjellén
91334317266,

91394317267, Tatzel

91394317265, ackinder

Question Number : 117 Question Id : 9139434395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

BaTH

91334517265,

91334517266,

91334517267,

Aot

91334517268,

Question Number : 118 Question Id : 9139434396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is the most accurate representative of eultural unit from the
highest to the lowest order ?

Options:

Complex, Realm, Region, Trait
91394217269,

Realm, Complex, Region, Trait
Q1294317270

Realm, Region, Complex, Trait
Q1594217271

Trait, Complex, Region, Realm
Q1294317272
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Correct Marks: 2 WrongMarks: 0

Preferfiaa 9 @ sratid wn § aiesfos 398 i gaffas ot ot & gufa 2
Options:

91394317269,

91394317270,

91394317271,

91394317272,

Question Number : 119 Question 1d : 9139434397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following geographers has authored the book ‘The Geography of State
Policies’ ?
Options:

91394317273, Tk Morrill

91394317074 O-b- Coben

91394317275, Tichard Hartshorne

91394317276, SV Prescott

Question Number : 119 Question Id : 9139434397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

HHUA, il
91394317273,

ug . WA

9153394217274

frad gréaid

215394217275,



9153394217276, .

Question Number : 120 Question Id : 9139434398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What percentage share of net tax revenue is now shared by the National Government of
India with the States after the acceptance of the recommendations of XIV Finance
Commisgion ?

Options:

91394317277, 32
91324317278, 28
13343172793 42
91394317280, 50

Question Number : 120 Question Id : 9139434398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hieed fam smam 6 fawfet # wfier fH 91 % 955 9@ 90 6 Fg SR g Tl & 9
frae = v o Toaen vl faemn amen fen smar 2 2

Options:

91334317277, 32
91394317278, 28
91324217279, 42
31334317280, 50

Question Number : 121 Question Id : 9139434399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The following are two lists, one having the names of the planned towns and the other
having the names of rivers on which they were planned. Match List I with List I and

choose the correct answer from the code given below.

List I List IT
(Name of town) (Name of river )
(a) Ayodhya (i)  Yamuna
(b) Harappa (ii) Indus
(¢) Shahjahanabad (iii) Saryu
(d) Mohenjo-daro (iv) Ravi
Code:
Options:
(a)—i), (b)—(ii), (e)—(iii), (d)—iv)
91394217281,
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
21394217282,
(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91594317253,
(a)(iv), (b)), (e)ii), (d)iii)
91394217284,

Question Number : 121 Question Id : 9139434399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A gt gfeat € &, wrelt § Fromrag wed % am € i gudt # 3 Afet F am E fm e aw o
gt 1%t gt 11 & gafaa Fifsw it = g mo ge 4 9 ad g0+t 9w

el Teh 11
(vret = m) (=)
(a) e (i) T
(b) &SI (i) fog
(c) MEwalaTg (iii) g,
(d) WISt (iv) Tt
C T
Options:
139431705y 2D (B-(iD), (e)-(i), (d)~(iv)
9139431705y B, (b)), (e)-(iv), (d)-()
01394317ogg (B, (b)), (=), (@)-G)

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394317254.



Question Number : 122 Question Id : 9139434400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which one of the following indices is used to indicate if the optimal location was closer to
either raw material source or the market ?

Options:

91394317255, Material Index
Weighted Index

Q1594217 2EE.

91394317287, Labour Cost Index
Relative Spread Index

Q139421 7288.

Question Number : 122 Question Id : 9139434400 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

afe geean (wifcens) Tu= =t 9Te & Gia 91 G & Afteh Fogts 8, 91 39 9aH % feg
Freafeafiaa & & fom qaree &1 s ffe s 8 2

Options:

91394317285, e (FAPT) T
01394317286, T 10D T
01394317287, T B
01394317288, T T A

Question Number : 123 Question Id : 9139434401 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The decade of 1990s witnessed urbanisation process speeding up economic
growth in India.

Reason (R) : The urbanisation process resulted in a growing shortage of urban services and
an overall deterioration in the quality-of-urban-life indices.

Code :

Options:

Yes

Yes



Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317289,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294317 290,

(A) is true, but (R) is false.
912334517291,

(A) is false, but (R) is true.
91294317292,

Question Number : 123 Question Id : 9139434401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31 s feu o 8, formd @ us arfirper (A) @ 3 g@o 7% (R) B | Sl =t afen sl = fag mo
Fe I TAM FHE I A |

HfireT (A) : 1990 % v & el it ufwn el famd wma & snfdfss fara & ot 21

% (R) : el 6t ufsran &1 aftms el danatt 6t agdt wift oft weht Stam 6t e gue d
Y BTE % &9 §A |

He:

Options:

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394317289, i wd & e &

(A) 3 (R) g1 @t &, g (R), (A) i Gt = 78 # |
913943172390,

(A) Tt 7, (R)Ted 2 |
Q1294217291 m

(A) T &, Wg (R) @&t 2 |
91394317292,

Question Number : 124 Question 1d : 9139434402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

There are two lists, one having macro regions and another their meso regions. Match List I
with List IT and choose the correct answer from the code given below.

List 1 List I1

(Macro region) (Meso region)
(a) Central (i) Damodar Valley
(b) Western (ii) Malnad
(¢) Southern (iii) Saurashtra
(d) Eastern (iv) Bastar
Code:

Options:



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334217233,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394317294

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
913345172395,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334217236,

Question Number : 124 Question Id : 9139434402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= 3t gfeaf § 78 8, v o gug & i o ¥ I wew &9 B | g 1 e 1 @ gafed fifsw
Fit = fgw e e | & wdt I gii

T T
(Feq &9) (wem )
(a) *<2E (i) grHe g9t
(by ufFasft (i) HeATS
(e) gftft (iii) &Hreg
(d) gaf (iv) W&
F:
Options:
(a)—ii), (b)—(ii), (e)—(iii), (d)—(iv)
91394317293,
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
91394317294,
(a)—{iii), (b)—(iv), (e)—(i), (d)—(ii)
91394317295,
(a)—{iv), (b)—(iil), (e)—(il), (d)—(i)
91394317296,

Question Number : 125 Question Id : 9139434403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
During which one of the following Five Year Plans was regional approach to build new
towns and prepare master and regional plans, emphasized in India for the first time ?
Options:

913943172g7, Fourth Five Year Plan

91594317208, Third Five Year Plan



913945317299, Sixth Five Year Plan

91394317300, 1Vnth Five Year Plan

Question Number : 125 Question Id : 9139434403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

yid # frfafiga & @ fem deendfa Ttemn & e 70 it 5@ @i wreet w @ et dan e
o &rfra gfeeenivn v vgelt am a fear mn 2

Options:

913345172397,

913345172395,

9153394217299, el

91334517200, el

Question Number : 126 Question 1d : 9139434404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
For expediting the development of small and medium sized towns, the scheme of Integrated
Development of Small and Medium Towns (IDMST) was initiated during the

Options:

91394317301 Tith Five Year Plan

91394317307 Cixth Five Year Plan

Eighth Five Year Plan
91394317303,

91394317304, nth Five Year Plan

Question Number : 126 Question Id : 9139434404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@y il weam arshr % el & fawm d oot @ % foe oy off wem vt % wafea fasra
(a8, gt um.wm. &) Fro fora e giemr &% <om e g 2

Options:



91334517201,

91334517202, =

912334517203,

2915334217304, el

Question Number : 127 Question Id : 9139434405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following kinds of towns was not planned and developed during the
British Rule in India ?

Options:

91394317305, Cantenment Towns

91394317308, JledelTowns

Railway Colonies
91394317307,

91394317308, L Stations

Question Number : 127 Question Id : 9139434405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiga o @ form v = wetl <t wrg d fafes smem < <9 wom aen fasfaa a8 foman man o 7
Options:

FerTHE
91394317305, T

Hisd
913943217306, AL

2915334217307, Sl

wErE #IH
91394317308, i

Question Number : 128 Question Id : 9139434406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements is frue about the concept of development ?

Options:

Development is a discrete process.
21394217209,

Development is a uni-dimensional process.
91594217310,

Development stands for growth with a change.
91394217311, P gro g

Meaning of development remains the same in time and space.
2913942172312,

Question Number : 128 Question Id : 9139434406 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fasrra it sraamon & dey § F=fefigg 4 @ sH-9 Fu= 58 22

Options:

forehrat weh arera wlseam & |
91394317309, R t

fererrat -t wfar
91394317310, R §

ferepre o1 sl aftad= oy afg 2
91394317311,

T 3t T i gern | fawm i sl anm A
91394317312

Question Number : 129 Question Id : 9139434407 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The city plans in ancient India were laid down in accordance to some
pre-conceived ideas, with high standards of public health.

Reason (R) : This does not, however, reflect the concern of ancient India for community
sanitation and health.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394217313,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
2915394217214,

Yes

Yes



(A) is true, but (R) is false.
91394217215,

(A) is falzse, but (R) is true.
Q1294317216

Question Number : 129 Question 1d : 9139434407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3w fon o B, i & o i (A) R 3 g@0 96 (R) 8 | Sl i afen sft e few o
e &1 T4 F T I g |

Y (A) : W=EH 9Rd § T AT deh e & 3= qEw 6 019 F6 q6-ari = §
FET TS TS o |

7% (R) : a1l o8 W= ¥ & g waeear it e gadt faar & sfafafEmg odf s g
Hhe:
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394317313, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394317314,

(A) T B, (R) Tefd & |
91394317315, A

(A) T 2, (R)TE 2|
Q1=294=217=216. m

Question Number : 130 Question Id : 9139434408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The major objective behind identification of five counter-magnet cities outside the National
Capital Region (NCR) was

(i) To further strengthen policies for decentralisation of economic activities
within and outside the NCR.

(ii) To further strengthen policies for decentralisation of population within and
outside the NCR.

(iii) To further strengthen the availability of physical infrastructure facilities within and
outside the NCR.

(iv) To further strengthen health and medical care services outside the NCR.

Choose the correct answer from the code given below :
Code:

Options:

(1) and (iii) are correct.
A1394217217.



(i), (ii) and (iv) are correct.
9123942173218,

(i) and (ii) are correct.
Q1394317319

(1), (iii) and (iv) are correct.
Q1294217220

Question Number : 130 Question Id : 9139434408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

st T 89 (. ¥ et o g Ot T R TeEE W o R b1
(i) wA e, % et aft e anfdfe nfafafiat & e & o Sfeat =t amt
qgg FH & foru |

(i) o.M, % it o aret sEen & T & fau ifaet it ot gge w0 2
(iii) T4, % e 3R amen vifas sewT A I9aerd i 3 ggg w6 & fom
(iv) w3531, & amet wareen it fufsre Sata danedi +t oft gog ¢ 7 |

Hre fou o e # | @t I w g
C T

Options:

91394217217, @ R (iﬁng !

(1), (ii) 3 (iv) I
91394317218, wl g

91394317319, ® 3 ) 7@

91334517220, b ) &

Question Number : 131 Question Id : 9139434409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is approximate length (in 000 kms) of the Indian Coastline ?

Options:

912334517321,

91334517322,

91334517323,



9123345172324,

Question Number : 131 Question Id : 9139434409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=feafiga 4 & -t yrdta 92 T 6 T T (Fan fef d) 2 2

Options:

o

9153394217321,

91334517322,

91334517323,

91334517324,

Question Number : 132 Question Id : 9139434410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is net a major industrial centre ?
Options:

91394317305, Coimbatore

91394317306, olkata

91394317307, adural

91394317325, THumbal

Question Number : 132 Question 1d : 9139434410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafaa 4 @ h-a o= wa sieifies % 787 8 2

Options:

T

91334517325,

91334517326,



et

91334517327,

T

B1334517328.

Question Number : 133 Question Id : 9139434411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has classified Indian agriculture into sixty micro-regions, thirteen
meso-regions and six macro-regions ?

Options:

Jashir Singh
91394317329

L. Dudley Stamp
215394217320

S.P. Chatterjee
91394317331

P. Sen-Gupta
91394317332

Question Number : 133 Question 1d : 9139434411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fFrferfiga & & forma wrdta Sfy 1 affen w16 @y, G aemm ol : Teq &t d faa fopan 2

Options:

e f§
Q1294217329 R{E
Q1594217350

s e
913942173221

g, &=-
Q1294317352 T

Question Number : 134 Question Id : 9139434412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following States in India recorded the highest percentage of decadal
growth of population during 2001 — 2011 7

Options:



913943217333, Arunachal Pradesh

91394317334, ouar Pradesh

91394317335, |lanarashtra

West Bengal
91394317336,

Question Number : 134 Question Id : 9139434412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa 4 & wra & fohm vsa 1 2001 - 2011 % o swgen | waffas gaefr afg (wfrem )
w7

Options:

9153342173535,

IW
2915334217354, 2

91334517335,

913345173356,

Question Number : 135 Question 1d : 9139434413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following rivers does not form a delta ?

Options:

91394317337, ahanadi

Cauvery
H91334517328.

91394317339, armada

91394317340, nishna

Question Number : 135 Question Id : 9139434413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefigs 4 & -t 3 3ver & Fofu 38 ==t & 7
Options:

HEFL

H91334517337.

2915394217358,

H1334517329.
91334317340,

Question Number : 136 Question Id : 9139434414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following group of States recorded Santhal tribe population as per census of
India, 2011 7

Options:

Bihar, Jharkhand, Maharashtra
Q12943173241

Gujarat, Bihar, Rajasthan
21594217342,

Jharkhand, Odisha, West Bengal
91394217343

Bihar, Odisha, Andhra Pradesh
Q15942173244

Question Number : 136 Question 1d : 9139434414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2011 % ST FHiswel & sgan Frafafaa 3 & e osa-aqg # gure seenfa 6t s g s
27

Options:

91394317341, e, '

e, farEm, ey
91394317342,

91394317343,



91394317344, =

Question Number : 137 Question Id : 9139434415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :

List I List IT
(Hydro Electric Power Plant) (State)
(a) Kopali (i) Maharashtra
(b) Dool-Hasti (ii) Assam
(c) Koyna (iii) Jammu and Kashmir
(d) Ranganadi (iv) Arunachal Pradesh
Code:
Options:
(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
21394217245,
(a)—(iii), (b)—(ii), (e)~(iv), (d)—(1)
91594317346,
(a)—(ii), (b)—(iii), (e)~(i), (d)~iv)
91394217347,
(a)—iv), (b)—(i), (e)(ii), (d)—(iii)
291394217248,

Question Number : 137 Question Id : 9139434415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t =t 118 gafea Aifem ot = fge me g 4 @ ad 39t 9f

Al T
(a) whigelt () wEnTe
L (ii)
(¢) whrET (i) ﬂaﬂtm
(@ T (iv) AR Y2
He:
Options:
91394317345, 2 (b)—(iv), (e)—(iii), (d)—(ii)
91394317345, &1 (D)D), (}(iv), (d)~(D)

(a)ii), (b)—(iii), (e)—(i), (d)iv)
913324217347,



(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
913342173248,

Question Number : 138 Question Id : 9139434416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I with List 1T and choose the correct answer from the code given below :

List I List IT
(Soil Type) (State)
(a) Alluvial (i) Kerala
(b) Red (ii) Uttarakhand
{e) Laterite (iii) Tamil Nadu
(d) Submontane (iv) Uttar Pradesh
Code :
Options:
(a)i), (b)—(iv), (e)—(iii), (d)—(ii)
9134943173249,
(a)—(iii), (h)—(ii), (e)—(i), (d)—(iv)
Q13943217350
(a)—(ii), (b)—(iii), (e)—~(i), (d)—(iv)
Q1=294=217=251.
(a)—iv), (b)—(iii), (e)—(1), (d)—(ii)
A123494217352

Question Number : 138 Question Id : 9139434416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 &t gt 11 & gafea fifsw ot = g 7o ge 4 9 a8 @+t g

Ll g I
(ferdh =1 wanm) ()

(a) g Ak

(b) ©Te i) FWTES

(c) weUg (i) H‘ﬁl?l:ng

@ Hﬂﬁ{q@@) (iv) FOT 2T

% :

Options:

91394317349 (a)—(1), (b)—(iv), (e)(iid), (d)—(ii)

91394317350, @D (b)), (}=(1), (d)—iv)

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234217251,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394317352,

Question Number : 139 Question Id : 9139434417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List I with List 1T and choose the correct answer from the code given below :
List 1 List I1
(Biosphere Reserve) (State)

(a) Pachmarhi (i)  Assam

(b) Simlipal (ii) Madhya Pradesh

() Agasthyamalai (iii) Kerala

(d) Manas (iv) Odisha

Code :
Options:

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
9123942173553,

(a)—iv), (b)—(ii), (e)-(iil), (d)—~(1)
91394317354

(a)—(1), (b)(iii), (e)—{ii), (d)—(iv)
91334217355,

(a)—ii), (b)—(iv), (e)—(iil), (d)~(1)
913342173556,

Question Number : 139 Question Id : 9139434417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 &t gt 11 & gafea fifsw ot = g 7o ge 4 9 a8 @+t g

1 o T
(% sreramra) ()

(a) el (i) oEw

(b farfeeqara ) o

(c) FTEATETE (i)

(@ wrE (iv) atfem

% :

Options:

91394317353 (a)—(iii), (b)—(iv), (e)—(D), (d)—(ii)

o1mousirang (@), (G, (@D, -0

(a)—(i), (b)—(iii), (e)-ii), (d)~(iv)
9123942173255,



(a)—(ii), (b)—iv), (e)—(ii), (d)—(1)
91334517356,

Question Number : 140 Question Id : 9139434418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following plateaus is nof a part of the South Central Highlands ?

Options:
91394317357, |iaharashtra
91394317358, Awa
Vindhya
91394317359,
Chotanagpur
91394317360,

Question Number : 140 Question Id : 9139434418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiga & @ st=-w1 9en <femrae 3= oft 1 feewn 98 22

Options:
91324217357, s
91324317358, e
91334217359, e
91394317360,

Question Number : 141 Question 1d : 9139434419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following variables iz correct to divide a universe of 500 students of a class
into two by their gender and then take a random sample of the males and a random sample
of females ?

Options:
Control variable

91334517261,

Independent variable
91324517362,



Dependent variable
91394317363

91394317364, Svratified variable

Question Number : 141 Question Id : 9139434419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fereft e % 500 SEl/EEIAT F 33 fom % sEm g T | afew 1oy % Agfees wfige o R
& argfeas Afigel o= & o Freferfiaa & @ Fm s ad ¢ 2

Options:

91394317361 RN

91334517362, =

91334517263,

91334517264, =

Question Number : 142 Question 1d : 9139434420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following features creates problems in the Satellite Remote Sensing data ?

Options:

91394317365, Land cover

91394317366, Cloud cover

91394317367, ' Ater cover

Vegetation cover
91394317368,

Question Number : 142 Question 1d : 9139434420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freferfiaa & & -t fasra @¢erge foate d@fam zrer & wwen S et 2 2
Options:

¥ AT
912334517265,



Aqrged AT

91394317366
915394317367, | oA
91394317368, Pt

Question Number : 143 Question Id : 9139434421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following processes is the main task for the computer in mapping the
geographical data ?

Options:

Data storage
91394217369,
91394317370, ata collection
91394317371 Data visualization

Data retrieving and drawing
91394217372,

Question Number : 143 Question Id ;: 9139434421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wimiferss stfhel % wmfem § Frafafas & @ s s s s gm s 2 2

Options:
el Herm
913943217369
AR G
91394217370, '
gl i FegEn
91394317371
Ffehgl ht G FE1 N AR HEA
41394317372

Question Number : 144 Question 1d : 9139434422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following mapping technigues is eorrect to show delineated areas having
different colours ?

Options:



Isopleth

91394317373,
91394317374, noropleth

91394317375, Cnorochromatic
91394317376, Cporoschematic

Question Number : 144 Question Id : 9139434422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiga d SR-8t amfe s taife &= H gai % fo fafim o & w0 g ad 2 2

Options:

9123345172373, S
912334517374, PRI
91334517375, PRI
H133451737E, PRI

Question Number : 145 Question Id : 9139434423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Variable Y regresses with variable X with the conditions that X = 550,
Y =3-50 and b = 1-50 in the linear regression model (Y = a + bX), where

Y and X are means of the respective variables and b refers to gradient of
line of Y w.r.t X. Which one of the following values of parameter ‘a’ of the
model is correct 7

Options:

91394317377, L~ 10

91394317378, 010

91394317379, 10
~ 575

91334517380,



Question Number : 145 Question Id : 9139434423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y = X &1 20 94 & H1e gHHE Fd 8 foh e weE gigd (Y = a + bX)
4 X =550, Y =3503 b=15028, 981 Y 30 X wfus =i & geqqH 2
3 b, Y o AMe X ae il YguEl @1 &I ShE I 2 | 99 Higd & 9rgd ‘2’ il
freafefiga o 9 sH-1 o= od 2 ?

Options:

91394317377, L0
91394317378, 10
91394317379, 10
91394317380, O 10

Question Number : 146 Question Id : 9139434424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one iz labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nearest neighbour analysis is an approach to the study of point, line and
area patterns.

Reason (R) : Measurement of distance by comparing the observed mean distances with the
expected mean distances between sampled points and their nearest neighbours.

Code:
Options:
Both (A) and (R) are true and (R) iz the correct explanation of (A).
215394217381,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594317382,
(A) is true, but (R) is false.
31394317363
(A) is false, but (R) is true.
215394217364

Question Number : 146 Question Id : 9139434424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |

sfirer (A) - Frevean wgidt faver fag, tan oit & & Yo & stemam &1 o gfeewm 2

7% (R) : Wi fag it 37e Freeam weiftat & o9 awafas vemm gl it sgmfia gemm
gt it e == gt 61 AT |

% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394317381, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394317382,

(A) T8 B, T (R) Teid 2 |
91394317383,

(A) T &, WG (R) &t 2
91394317384,

Question Number : 147 Question 1d : 9139434425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following diagrams represents the occupational structure of population ?

Options:

Isopleth
91394317385,

91394317356, Contour

Pie diagram
91394217287,

Choropleth
91394217388,

Question Number : 147 Question 1d : 9139434425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frefeafas & o .o =1 Sge i Semra g #t gt § 2

Options:

qUYH (ATgEeYy)

91334517385,

aut=
91394317386, )



AnE
91394317387, ™

91334517388,

Question Number : 148 Question 1d : 9139434426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following aspects could be correctly represented in a contour map ?

Options:

Population distribution
913943173589,
91394317390, lerrain elevation
91394317391, 1ock hardness
91394317392, ol distribution

Question Number : 148 Question Id : 9139434426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freafeafiga & & e vee geirs ot afas § oft qofa on awar 2 2

Options:

91394317380, TN Haw
913943173390, T S
91394317391 g i g
91394317332, gt for

Question Number : 149 Question Id : 9139434427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following denotes the lines joining equal amount of travel time ?
Options:

91394317393, 1-onaline



91394317394 sochrone

Isoheight
91384517395,

Isopleth
91394317396,

Question Number : 149 Question Id : 9139434427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=ferfiga & @ w gum= T 99g 6t ded Gl TEet =t gutar g 2
Options:

913345173393, o

913345172594, &

91394317395, s

YA @ (amgETe)

9153394217356,

Question Number : 150 Question Id : 9139434428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following random sampling techniques becomes more appropriate for
homogeneous population groups ?

Options:

Systematic
91394217397,

Simple
1394217398,
91394317309 Suratified

Proportionate
91394217400,

Question Number : 150 Question Id : 9139434428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiga & & s agfos wfaeyt qofie Tuift saoem agl % fon st 3o 2 2

Options:



913345173597,

913343173398,

913345172399,

2915334217400,



